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PART 1
CHAPTER 1
MARKET AND COMMAND ECONOMIES

Economics is a science that analyzes what, how, and for whom society
produces. The central economic problem is to reconcile the conflict between
people’s unlimited demands with society’s ability to produce goods and
services.

In industrial Western countries markets are to allocate resources. The market
is the process by which production and consumption are coordinated through
prices.

In a command economy, a central planning office makes decisions on what,
how, and for whom to produce. Economy cannot rely entirely on command, but
there was extensive planning in many Soviet bloc countries.

A free market economy has no government intervention. Resources are
allocated entirely through markets.

Modern economies in the West are mixed and rely mainly on the market but
with a large dose of government intervention. The optimal level of government
intervention remains a problem which is of interest to economists.

The degree of government restrictions differs greatly between countries that
have command economies and countries that have free market economies. In the
former, resources are allocated by central government planning. In the latter,
there 1s not any government regulation of the consumption, production, and
exchange of goods. Between the two main types lies the mixed economy where
market and government are both of importance. [1]

1. Translate into Ukrainian.

Economics, economic, economical, economist, economize, economy,
command economy, free market economy, mixed economy, produce,
production, demand, demand for something, to be in high / low demand, goods,
service, allocate something to / in something, consumption, at high/low prices,
price for /of a good, to make a decision, rely on somebody / something, entirely,
intervention, government intervention, at a certain level, restriction, (the)
former, (the) latter, government regulation, to be of importance

2. Fill in the prepositions if necessary.

1. ...a command economy that always relies ... central planning, the
economic role of the government is ... prime importance.

2.... a free-market economy, economic decisions are made ... companies
and individuals and all the resources are allocated ... markets.
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3.Economic statistics is the statistics about levels ... production and
consumption ... an economy, exports and imports, inflation and other
information. It is usually collected ... government.

4. The council of the city made a decision last year to allocate more money
... the construction ... the bridge ... the railway station.

5.... such high prices ... meat the government cannot hope to keep its
consumption ... a sufficient level.

6. When people are poor, social services are ... higher demand.

7. The statistics of the European Union are collected ...the union level and ...
national levels of member countries.

8. The demand ... food has been going down ... Western Europe ... several
years.

9.Some direct methods ... price regulation are sometimes used
governments, but they usually rely ... indirect regulation.

10. Prices ... dairy products have been an example ... government regulation
... prices ... the USA ... a long time.

3. Fill the sentences with the words.
Economical, economy, economics, economist, economic, to economize

1. An early definition of ... was “an inquiry into the nature and causes of the
wealth of nations”.

2.The national ... is the system of the management and use of resources of a
country.

3.You can ... if you compare the prices of products before buying them.

4.]J. M. Keynes was a famous ... .

5. Inflation may cause a bad ... situation in a country.

6. If you have got a large family, it is more ... to travel by car than by plane.

4. Translate the sentences into English.

1.Po3BUHYTI  KpaiHM  JOCATAOTh  €KOHOMIYHOTO  YCHiXy  uepe3
crerianizariio.

2.Y poku BiiHM B KpaiHi 3aBXKIU Ma€ MICIE€ PETyJIOBAaHHS E€KOHOMIKU
YPAIOM.

3.B exoHOMiKax 3MIMIAHOTO THUITY 3aBXIW € YPSAI0BI OOMEXKEHHS IIOJ0
TOTO, 1110 BUPOOJISTH 1 IK BUPOOJISITH.

4. KoxeH MeHeKep npuiiMae pillieHHs, K PO3NOIIITUTH 0OMEKEHI pecypcu
HalKpalmMm crocoOoM.

5.11pu pUHKOBIN €KOHOMIIl pEeryjtoBaHHS BUPOOHHUIITBA Ta CIOKHBAHHS
31MCHIOETHCS Yepe3 I1HU.

6.'ooBHA €KOHOMIYHA TMpoOJieMa CYCHUIBCTBA — 1€ YJaroJKeHHs
KOH(JIIKTY M)XK HEOOMEKEHUMHU MOTpedaMu JII0AEH 00 TOBAPIB 1 MOCIYT Ta
pecypcaMu, Kl ICHYIOTb JJIsl BAPOOHUIITBA LIUX TOBAPIB Ta MOCTYT.
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5. Translate into Ukrainian.
MIXED ECONOMY

There are three types of management in economies. An economy may be
almost totally planned, as it was in the Soviet Union. An economy may be
almost totally unplanned, as it is in the USA. Or an economy may be a
combination of planning and freedom of operation. Examples of the latter are
Japan and South Korea.

In a planned economy the government decides what goods are to be
produced and how they are to be marketed. Governments set all the priorities,
and the producers are to follow the directions given to them.

In a partially planned economy such as Japan’s, the government often
encourages industry and helps it with subsidies. Government also makes
investments and regulates trade.

The United States is an example of an unplanned economy. But it has a lot
of government intervention in economic activity. As the economy of the United
States grew, and as government and its importance increased, the government
policy at every level acquired greater importance for the economy.

But the economy of the United States may be called unplanned because the
government does not regulate what will be produced and how it will be
marketed. These decisions are left to the producers. Even the greater amount of
government regulation that has emerged since the Great Depression has not
turned the economy of the United States into a planned economy.

The name of the American economic system is capitalism. Another name for
it is the free market economy. [2]



CHAPTER 2
DEMAND AND SUPPLY

Demand is the quantity of a good that buyers wish to buy at each price.
Other things equal, at low prices the demanded quantity is higher.

Supply is the quantity of a good that sellers wish to sell at each price. Other
things equal, when prices are high, the supplied quantity is high as well.

The market is in equilibrium when the price regulates the quantity supplied
by producers and the quantity demanded by consumers. When prices are not so
high as the equilibrium price, there is excess demand (shortage) raising the
price. At prices above the equilibrium price, there is excess supply (surplus)
reducing the price.

There are some factors influencing demand for a good, such as the prices of
other goods, consumer incomes and some others.

An increase in the price of a substitute good (or a decrease in the price of a
complement good) will at the same time raise the demanded quantity. As
consumer income is increased, demand for a normal good will also increase but
demand for an inferior good will decrease. A normal good is a good for which
demand increases when incomes rise. An inferior good is a good for which
demand falls when incomes rise.

As to supply, some factors are assumed as constant. Among them are
technology, the input price, as well as degree of government regulation. An
improvement in technology is as important for increasing the supplied quantity
of a good as a reduction in input prices.

Government regulates demand and supply, imposing ceiling prices
(maximum prices) and floor prices (minimum prices) and adding its own
demand to the demand of the private sector. [2]

1. Translate into Ukrainian.

Quantity, buy, buyer, to demand something, supply, excess supply, to
supply, to supply somebody with something, to supply something to somebody,
to sell, seller, equilibrium, equilibrium price, producer, consumer, to consume,
shortage, to raise, surplus, to reduce, reduction in something, to influence,
income, increase in something, to increase, substitute goods, substitute for
something, decrease in something, to decrease, complement goods.

2.Fill in the prepositions if necessary.

1. ... amixed economy the government of the country may be a producer...
private goods, for example, ferrous metals and trains.

2. An increase ... the price ... an input will lead to a reduction ... the demand
... that input.

3. The firm can sell as much as it wants ... the market price.
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4. A consumer’s tastes and income as well as prices ... other goods influence
... his or her demand.

5. Consumers almost always respond to an increase ... a good’s price ... a
reduction ... the quantity ... it consumed ... them.

6. A change ... the supply ... a good and ... its demand both influence ... its
equilibrium price.

7. Rupert Murdoch, the media magnate, is planning to supply the services ...
his network ... satellites ... Internet development. If Internet is operated ...
satellites, there will be access ... it ... televisions and mobile phones, not only ...
personal computers, ... the near future.

8. ... a command economy, plans are imposed ... producers ... government
agencies.

9. Scientists and engineers have been developing substitutes ... natural
building materials ... several past decades.

10. Supplying people ... food as well as industry ... raw materials, agriculture
1S ... utmost importance ... an economy.

3. Make up all possible word-combinations of these words and translate
them into Ukrainian.

a. Price — quantity, to reduce, to rise, to impose, input, to raise, equilibrium,
to fall, private, reduction, substitute.

b. to influence — surplus, a seller, technology, input price, a good, a buyer, to
raise, supply.

c. improvement — decrease, surplus, quantity, to sell, technology, goods.

d. to decrease — shortage, technology, input price, seller, quantity, surplus,
reduction.

4. Translate the sentences into Ukrainian.

1. If the price is higher than the equilibrium one, it will be falling till the
equilibrium price is reached and there is no more surpluses left. If a good is sold
at a price below the equilibrium one, the price will grow and reach the
equilibrium price till there is no more shortage of the good left.

2. Governments buy and produce many goods and services, such as defense,
education, parks, and public utilities for firms and individuals.

3. Firms producing computers act as buyers in the markets for the services
of computer programmers.

4. Governments, through their control of the quantity of money in the
economy, can influence business activity.

5. With a reduction in input prices companies will supply more of a good at
each price.

6. Inflation is a rise in the level of prices as demand is higher than supply
because of an increase in the supply of money.
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7. When there is a harvest failure, the producers’ supply will decrease.

8.Supply restrictions imposed by cartels are as characteristic of
industrialized economies as of developing economies.

9. Private sector in a mixed economy is that part of the economy that is
controlled by private firms, not by government or corporations.

10. Excess supply is a situation in which, at a certain price, the quantity of a
good demanded by buyers is less than the quantity supplied by producers.

5. Complete the following sentences.

to impose, the same, surplus, to buy, consumer, to rise, to increase,
equilibrium price, as well as, to fall, shortage (2), inputs, normal

1. ... are the factors of production (land, labor, capital, materials) that are put
into a business to produce goods and services.

2. When all goods are ... , lower consumer income reduces the demanded
quantity for all goods.

3. When the Beatles and Rolling Stones first became popular, the demand
for haircuts suddenly ....

4. When income ..., the demand for most goods increases. Typically,
consumers ... more of everything.

5. At any time, the market price may not be the ... leading to excess supply
(...) or excess demand (...).

6. If there 1s a national food ... , a government of the country may ... a
ceiling price on food so that poor people can buy enough food.

7. Workers in poor countries who have no resources for health and
education are often less productive than workers using... technology in rich
countries.

8. Japanese ... pay as much as eight world prices for meat.

6. Translate the sentences into English.

.Y Mipy TOro sK I[iHa TOBapy 3pOCTa€, MOro HEOOXiTHAa KUIBKICTh
3MEHIIYEThCH.

2. ITono>xeHHs B KpaiHax 3 HU3bKUM JIOXOJ0M MOKpaIlyeThes 3 1965 poky.

3. 3aBIaHHs MaKCUMAaJIbHOI I[IHU TOJIATA€ B TOMY, OO 3MEHIIUTH IIHY IS
CIIO’KMBAaYIB, a 3aBJaHHS MIHIMAJIbHOI I[IHU TOJISITAE B TOMY, 1100 MIIHITH IIHY
JJ1s1 BUPOOHUKIB 1 MOCTaYyabHUKIB.

4. 301bIICHHS MPOIO3HUIIlT COPUYHMHSIE MiBUILICHHS PIBHOBAYKHOI KIJIBKOCTI
1 3HMKEHHSI PIBHOBAXKHOI I[1HU.

5.Komu 1inu OyayTh 3MEHIIEHI 0 PIBHOBXHOI IiHH, TOII HE Oyne
TOBapHUX HAJIJIUIIKIB.



CHAPTER 3
THEORY OF DEMAND

Consumer demand is the quantities of a particular good that an individual
consumer wants and is able to buy as the price varies, if all other factors
influencing demand are constant.

That is, consumer demand is the relationship between the quantity
demanded for the good and its price. The factors assumed constant are prices of
other goods, income, and a number of noneconomic factors, such as social,
physiological, demographic characteristics of the consumer in question.

The theory of demand is based on the assumption that the consumer having
budget constraint seeks to reach the maximum possible level of utility, that is, to
maximize utility, but he usually prefers to obtain more rather than less. The
consumer has to solve the problem of choice. Provided he is to maintain a given
level of utility, increases in the quantity of one good must be followed by
reductions in the quantity of the other good. The consumer has to choose the
specific goods within the limits imposed by his budget.

The concept of marginal utility is of great importance for solving the utility
maximization problem. The marginal utility of a good is the additional utility
obtained from consuming an additional unit of the good in question. The
marginal utility from consuming a good decreases as more of that good is
consumed. The income should be allocated among all possible choices so that
the marginal utility per dollar of expenditure on each good is equal to the
marginal utility per dollar of expenditure on every other good.

A price increase will result in a reduction in the quantity demanded. This
relationship between the quantity demanded of a good and its price is called the
law of demand. As the marginal utility from each additional unit of the good
consumed decreases, the consumer will want to buy more of this good only if its
price is reduced.

Market demand is the quantities of a good that all consumers in a particular
market want and are able to buy as price varies and as all other factors are
assumed constant. Market demand depends not only on the factors affecting
individual demands, but also on the number of consumers in the market. The
law of demand also works with market demand. [1]

1. Translate into Ukrainian.

Consumer demand, particular, to vary, constant, that is, relationship, to
assume, assumption, number, a number of, budget constraint, budget, maximum,
to maximize, maximization, utility, marginal utility, to prefer something to
something, to obtain, rather than, choice, to choose, provided, to maintain, to
follow, within, additional, unit, per, per capita, per head, expenditure, to result in
something, market demand, to depend on /upon, to affect.
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2. Complete the following sentences.

choice, to obtain (2), number, that is, within (2), to maintain, constant, rather
than, per (4), provided, to result in, to assume, to choose

1. We assume that the consumer want to have more of a good......less.

2. ... the good whose price has risen is a normal good, the economist can ...
that the demand for 1t will fall.

3. A constant level of utility is ... through right choice of goods or services
that can be ... at one time.

4. The lower price ... ... additional demand.

5. People must often make a ... between two or more goods. They usually ...
the good with the highest utility... the limited budget, ... ... , choose the cheapest
good.

6. Income is usually counted ... year, but sometimes also ... month or even ...
week.

7. The person who has a credit card has to pay ... a certain ... of days for
everything that he has bought with its help during the month.

8. We do not assume that ... acre productivity will remain ... as modern
agricultural technology allows farmers to ... better results.

3. Translate the sentences into Ukrainian.

1. These two goods are good substitutes.

2. The problem of the consumer is to choose the particular goods and
services within the limits imposed by his budget.

3. If the consumer wants to maintain a constant maximum utility and at the
same time obtain more of a good, he should decide the consumption of which
other good has to be reduced.

4. The relationship between utility and the goods consumed depends on the
social, physiological, demographic and other characteristics of the particular
consumer.

5. Budget constraint means that your expenditures for all the goods
consumed must be equal to your income.

6. Economic theory is the part of the study of economics that examines and
explains how the economic system is affected by man's behavior, by nature,
markets and governments.

7. Consumers want to buy a good as long as the ratio between its marginal
utility and price is the same as for other goods.

8. The increase in the number of people in the world is followed at present
by an increase in per capita consumption.
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4. Fill in the prepositions if necessary.

1. ... Ukraine, real income ... capita fell... 57 percent... 1998.

2. People must keep their purchases ... their incomes, often making choices
... little budgets.

3. The consumption ... candies ... Ukraine is ... six times lower than ... the
UK.

4. The sales ... the Hungarian drug maker Gideon Richter fell... $78 million

. 1997 ... $40 million ... 1999 as the incomes ... Ukrainian people fell
dramatically ... the crisis ... 1998.

5. An increase ... the price ... an input will result ... a reduction in the
quantity ... that input demanded.

6. How much can be produced ... week ... each industry depends ... how
workers are allocated ... the industries.

8. It i1s not always easy to explain why consumers prefer one good ...
another, but producers have to examine consumer preferences carefully as they
depend ... them.

9. We need ... a number ... elementary things ... life, such as food, water and
housing. It is very difficult to decrease ... their consumption when the price
increases, that is, demand ... them is inelastic.

5. Complete the sentences.

Increase in the utility of one good can compensate
Equilibrium price is the price at which
The marginal utility of a good is the increase in
There are different ways
Over 60 percent of the capital of all US firms is in agro-industry
6. Higher expenditure on foreign goods rather than on the goods produced
at home
7. Rising incomes result in
8. Per capita income in Canada

Nk =

the quantity demanded is equal I the quantity supplied.

to restrict import expenditure.

that is, industry based on agricultural products.

an absolute fall of demand for inferior goods.

is still higher than in germany.

the utility obtained by consuming one more unit of that good.
the reduction of utility of another good.

will increase demand for foreign goods.

R
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6. Translate the sentences into English.

1. KoxxeH crioskuBay Ma€ BUPIIIATH MPOOIeMy BUOODY.

2. IIpu piBHOBaXKHIM 111H1 TPOTO3HIIis JOPIBHIOE TTOMUTY.

3. Ilinu HUOKYE PIBHOBAXKHOI MPU3BOJATH /10 ACHILUTY.

4. Ha BUIBHOMY pHMHKY 3MIHM I[IHM 3ajJeXaTh B 3MIHM TIONUTY 1
MIPOTO3UIIIi.

5. ®@ipMa MOKE KOHTPOJIOBATH OJHY ab0 OlibIlle BUPOOHWYUX OJUHUIIb,
TaKMX 5K 3aBOJI.

6. Konneniiisi rpaHUuHOT KOPUCHOCTI Jy>K€ Ba)KJIMBa I BUPIIICHHS JESTKUX
npo6JieM MOIHUTY.

7. Open the brackets and choose the appropriate word.

1. An increase in clothes prices greatly (affects /follows) consumer real
income because clothes is a large part of consumer (expenditure / budget).

2. An increase in the price of the good j increases the quantity demanded of
the good; when the two goods are (substitutes / normal) but reduces the quantity
demanded of the good 1 when the two goods are (additional / complements).

3. We (prefer/ assume) that the consumer always decides that one good is
better than, worse than, or as good as another.

4. This model of consumer (expenditure / choice) can show different
behavior of different consumers.

5. The demand theory assumes that the consumer (following/ depending) on
a budget constraint wants to (vary / maximize) utility.

6. Importers often must first (follow / obtain) an import license.

7. Economic development is the process of raising the income (per /within)
head of the people of a country.

8. If the level of imports is high, great parts of incomes are spent on the
goods produced abroad (that is / rather than) on the goods produced at home.

9. Statistics show that (the budget constraint / the number) of working
women with young children is constantly growing in Ukraine today.

10. An increase in consumer expenditure usually (follows / results in) an
equivalent rise in the income of consumers.

13



CHAPTER 4
THEORY OF SUPPLY

The theory of supply is the theory of how much output firms choose to
produce. The principal assumption of the supply theory is that the producer will
maintain the level of output at which he maximizes his profit.

Profit can be defined in terms of revenue and costs. Revenue is what the
firm earns by selling goods or services in a given period such as a year. Costs
are the expenses which are necessary for producing and selling goods or services
during the period. Profit is the revenue from selling the output minus the costs of
inputs used.

Costs should include opportunity costs of all resources used in production.
Opportunity cost of a commodity is the amount an input can obtain in its best
alternative use (best use elsewhere). In particular, costs include they owner’s
time and effort in running a business. Costs also include the opportunity cost of
the financial capital used in the firm.

Aiming to get higher profits, firms obtain each output level as cheaply as
possible. Firms choose the optimal output level to receive the highest profits.
This decision can be described in terms of marginal cost and marginal revenue.

Marginal cost is the increase in total cost when one additional unit of output
1s produced.

Marginal revenue is the corresponding change in total revenue from selling
one more unit of output.

As the individual firm has to be a price-taker, each firm’s marginal revenue
1s the prevailing market price. Profits are the highest at the output level at which
marginal cost is equal to marginal revenue, that is, to the market price of the
output. If profits are negative at this output level, the firm should close down.
An increase in marginal cost reduces output. A rise in marginal revenue
increases output. The optimal quantity also depends on the output prices as well
as on the input costs. Of course, the optimal supply quantity is affected by such
non-economic factors as technology, environment, etc.

Making economic forecasts, it is necessary to know the effect of a price
change on the whole output rather than the supply of individual firms.

Market supply is defined in terms of the alternative quantities of a
commodity all firms in a particular market offer as price varies and as all other
factors are assumed constant.[1]

1. Translate into Ukrainian.

Output, in terms of, profit, in terms of money, revenue, marginal revenue,
costs, marginal costs, opportunity costs, to earn, expenses, to use, use, to include
something in something, to be included in something, commodity, amount,
alternative, elsewhere, in particular, to own, own, owner, to run a company,
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business, to receive, total, corresponding, to offer something to somebody,
amount of work /information /coffee /money, the total amount of goods
produced, a maximum /minimum amount of goods, a large amount of potatoes,
the cheque number, the bank note number, the number of pages, a number of
goods / producers, a small quantity of gas, a large quantity of goods.

2. Answer the questions.

1. What is the principal meaning of the supply theory?

2. What is the difference between profit and revenue?

3. What is included in costs of production?

4. How do firms get highest profits?

5. When are profits the highest?

6. When must firms close down?

7. What is the relationship between marginal revenue, marginal cost and
output?

8. What is market supply?

9. What is market supply important for?

3. Translate the sentences into Ukrainian.

1. The aim of macroeconomics is to examine and explain economic facts for
the total nation, such as the total money supply, production, consumption, etc.

2. Profit is the revenue from selling the output minus the costs of inputs
used.

3. For each level of output, the marginal costs are lower as the input price
decreases.

4. A business needs some financial capital to start the business before the
corresponding revenue is earned.

5. If bad harvests raise farmers’ revenues and good harvests result in a fall in
agricultural prices and farmers’ revenues, you may now be thinking why farmers
do not get together and restrict their supply thus increasing revenues.

6. Opportunity costs should be counted for labor and financial capital used.

7. Ukrainian firms co-operate with East-European firms.

8. A change in the price of input, price of alternative output, technological
factors, and the number of firms will result in a market supply change.

4. Fill in the prepositions if necessary.

1. The growth ... output ... person rather than the growth ... total output is
... greater importance ... an economy.

2. The companies selling consumer goods recognize the importance ...
consumer preferences; they spend over $50 billion ... a year... Canada ...
advertising trying to direct consumer preferences ... their own products.
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3. An increase or a decrease ... total revenue may follow ... a price rise and a
decrease ... the quantity produced accompanying it. The effect depends ... which
change is larger — the change ... price or the change ... the quantity produced.

4. After a particular market is defined ... terms ... its product and its
geographic area, the economist can study the workings ... demand and supply ...
that particular market.

5. As the price ... a good increases, consumers can buy less ... all goods,
including ... the good whose price has risen.

6. Opportunity costs and amounts paid ... all resources are included ...total
costs.

7. The output... beer... German largest beer maker grew... 40 per cent... 2012
... the previous year.

8. ... 2014, industrial production ... Austria increased... 8.9 per cent but the
output... agricultural sector decreased ... 0.7 per cent compared ... 2013 level.

9. Every field, economics... particular, has its “schools” and groups.
“Liberal” economists believe ... market system opportunities. But they also
believe ... government support and regulation ... an economy.

10. “Classical liberals” or the “Chicago Group” rely ... people’s private
choices as the rational basis ... the economic system.

11. “Radical” economists, including ... Marxists and other critics, believe
that free-market capitalism must result... depressions and mass unemployment.
They assume that governments must run ... all economic units and make all
economic decisions.

5. Open the brackets and choose the appropriate word.

1. Farmers may (own / earn /run) more revenue from a bad harvest than
from a good harvest.

2. A rise in the income of consumers will typically result in an equivalent
increase in (corresponding /total /alternative) consumer expenditure.

3. Statistics show the greatest increase in the number of jobs in the
Ukrainian non-production sector among government workers (in terms of /
elsewhere /in particular) today.

4. Don’t forget to calculate the (marginal cost /costs /opportunity cost) of the
man’s labor, that is, the money that he could (own /earn /offer) by working
elsewhere.

5. In Marxist theory, proletariat is the social class of workers who have to
see their (corresponding /own /total) ability to work.

6. If we want to understand how firms make output decisions, we must
analyze how they determine (revenues /output /amounts) and (commodities
/costs /profits).
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6. Complete the sentences.

1. Market demand is

2. An improvement of technology is a change that

3. Profits are

4. As long as the total demand and the total supply of the commodity remain
equal,

5. Part of a company's profits is put back into the business rather than

6. Examining how revenues and costs change with the level of output
produced and sold,

7. With inflation, people have to increase expenditure because

8. Profit depends on

9. Opportunity cost is the amount

a. revenues minus costs.

b. the firm can select the output level maximizing its profit.

c. paid out as dividends.

d. the equilibrium price will remain unchanged.

e. makes it possible for firms to produce more goods with the same amount
of resources as before.

f. how much the amount received is greater than the amounts paid.

g. the total demand from all consumers.

h. the old level of expenditure in money terms now buys a smaller quantity
of goods.

1. an input can obtain in its use elsewhere.

7. Translate the sentences into English.

1. PunkoBuU# MOMUT - 1€ 3arajJbHUM MOMUT HA TOBApP B CYCH1JILCTBI.

2.He Bci mapTHepu B KOMIMaHIi MOBMHHI OpaTH aKTUBHY Yy4YacTh B
ympasiiHH1 (HipMOIO.

3. Henerxko po3paxyBaTul [0XiJ, BHUTpaTH 1 MNPUOYTKH JJisi BEITUKOIO
MPUEMCTRA.

4. ®epmep - L€ TIOIMHA, SIKa BOJIOIE 1 yripaBisie pepMoro.

5.Komu 1miHa migHIMaeTbCs BWINE TPAHWUYHHX BUTPAT, KOXKEH BUPOOHUK
X0ue BUPOOJIATH OljIbIIIE.

6. HaBiTh mpu Hy7IHOBOMY BHpOOJIEHHI (pipMa NMOBHHHA OIUIAYYyBaTH JEAKi
BUTpPATH.

7. BuTtpaTi MOBWHHI BKJIIOYATH aJbTEPHATHBHI BUTPATH BCIX PECYpCIB,
BUKOPUCTOBYBAaHUX Y BUPOOHMIITBI.

8. Translate the Ukrainian words in the following sentences.

1. Last year there was an increase in the (kutbkocTi) of gas produced.

2. (KinekicTh) of consumers in the market has decreased.

3. Almost the same (kinbkicTh) of tea was exported last year as the previous
year.
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4. (Psan) problems arise when a new company is set up.

5. When there is shortage, sellers can charge the maximum (cymy) for their
goods.

6. They supply the same (xisnbkicTh) of the products to this customer every
week.

7. The (cyma) he puts in the bank every week is the same.

8. (Kiumbkictb) of their customers has increased this year.

9. It is cheaper to buy goods in large (kisibkOCTI).

10. This big store chain has (psn) suppliers.

11. The economist calculated the total (cymy) of the expenditure.

12. There is a shortage of the (kinbkocti) demanded of the goods.

9. Translate into Ukrainian.
PRICE ELASTICITY OF DEMAND AND SUPPLY

There is a relationship between demand and price. How much demand for a
commodity is affected by a change in price is called elasticity of demand. If a
small change of price results in a large change in demand, the demand is called
elastic, if the demand changes only a little, it is called inelastic. The price
elasticity of demand coefficient is negative as demand usually falls with a rise in
price.

The price elasticity of supply shows the percentage change in the quantity
supplied resulting from a one-percent change in price.

As an increase in the quantity supplied is normally a result of a rise in price,
the coefficient is usually positive. We have a “0” (zero) elasticity when a price
change results in no quantity supplied change. This is called a perfectly inelastic
supply. Provided the elasticity varies between zero and one, the supply is called
inelastic. With coefficients greater than one, the supply is called elastic. The
percentage change in quantity is larger than the corresponding percentage
change in price.

Agricultural supply is mostly inelastic because of the high proportion of
such inputs as land, buildings, and machinery. The elasticity of agricultural
commodities (potatoes, wheat, fruits, eggs, milk) varies greatly. Because of
increasing specialization of production, of farm animal products, in particular,
elasticity for such commodities as pigs or broilers has decreased in recent
years.[2]

18



CHAPTERS

FACTORS OF PRODUCTION: CAPITAL AND LABOR

Factors of production are resources used by firms as inputs for a good or
service to be produced. Factors of production are as follows: capital, labor, and
natural resources.

In economic theory, the term “capital” refers to goods and money used to
produce more goods and money. Classifications of capital vary with the purpose
of the classification. The most general distinction is the one made between
physical, financial, and human capital.

Physical capital is land, buildings, equipment, raw materials; bonds, stocks,
available bank balances are included in the financial capital. They both make a
great contribution to production.

To group capital into fixed capital and circulating capital is common
practice. The former refers to means of production such as land, buildings,
machinery and various equipment. They are durable, that is, they participate in
the production process over several years. Circulating capital includes both non-
renewable goods, such as raw materials and fuel, and the funds required paying
wages and other claims against the enterprise. Non-renewable goods are used up
in one production cycle and their value is fully transferred to the final product.

Human capital is knowledge that contributes “know-how” to production. It
is increased by research and disseminated through education. Investment in
human capital results in new, technically improved, products and production
processes which improve economic efficiency. Like physical capital, human
capital is important enough to be an indicator of economic development of a
nation [1].

It 1s common, in economics, to understand labor as an effort needed to
satisfy human needs. It is one of the three leading elements of production. Labor
has a variety of functions: production of raw materials, manufacturing of final
products, transferring things from one place to another, management of
production, and services like the ones rendered by physicians and teachers.

One can classify labor into productive and unproductive. The farmer
produces physical objects having utility. The latter is useful but does not
produce material wealth. Labor of the musician is an example. Unlike other
factors of production, for example capital, once workers are employed, their
efficiency can vary greatly with organization of work and their motivation.

Demand for labor is influenced by the demand for goods produced by
workers, the proportion of wages in total production costs, etc. The supply of
labor depends upon the size of population, geographic mobility, skills, education
level (human capital), etc. Workers supply labor either individually or through
trade unions. If demand for and supply of labor are not in equilibrium, there is
unemployment. The rate of unemployment is a percentage of the total labor
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force without a job. It is desirable for an economy to have the lowest possible
unemployment rate and to achieve higher employment as neither full use of
resources nor maximum level of output can be achieved in an economy having
unemployment.

Factors of production are combined together in different proportion in order
to produce output. It is assumed in economics that one should choose the
combination of factors which minimizes the cost of production and increases
profits [2].

1. Translate into Ukrainian.

As follows, fixed capital, circulating capital, to vary with, to vary from ...
to, a variety of, for this purpose, available to somebody, contribution to
something, to make a contribution to something, to contribute to something,
durable, durable goods, durables, to require something, to use up, investment in
something, to invest in something, efficiency of labor, production costs,
production cost, trade union.

2. Complete the following sentences.

both ... and, to contribute, to employ, employment, unlike, variety, purpose,
machinery, available, various

1....physical capital, human capital does not belong to the company that has
invested in it.

2. Trade union restrictions do not allow ... of youth in some industries and
many service sectors.

3.The ... of minimum wages is to protect young people from exploitation.

4. Natural resources research in Canada of the 2009s was based on gathering
information from a ... of resources.

5. The European Union’s statistics are collected ... at the union level ... at
national levels of member countries.

6. There are ... forms of money.

7. The marginal product or labor shows how much each additional worker
increases total output. The marginal product grows as the first few workers are
... because it 1s hard for the first and the second worker to handle all the ... .

8. By the time the third worker is ..., marginal productivity of labor starts
falling.

8. When all ... machinery are fully used, each new worker has less and less
to....
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3. Translate the sentences into Ukrainian.

1. Trade union organizations vary with the country. Their activities vary
from general protection to specific members’ advantages for some jobs.

2. Unlike machinery or raw materials, workers can think. Machines can
neither quit their jobs nor decide how much they would like to work for their
owners.

3. Minimum wages may paradoxically result in youth unemployment
because firms do not want to employ young workers receiving them.

4. In terms of percentage of employment the movement away from
agriculture into industry and from industry into services is clearly seen now.

5. The European Union’s economic policies have to be reformed to meet the
changing requirements (economic, technical, and political) of the new
millennium.

6. It is important to reduce capital investments in the production process in
order to lower the cost of production.

7. In the poor countries there is too little machinery relative to the size of the
population to make labor efficient.

8. To use more fuel-efficient aircraft is the present-day trend with airlines.

4. Fill in the prepositions if necessary.

1. Each individual’s expenditure always contributes ... some other
individual’s income.

2. That living organisms include a variety ... cells is a biological fact, how
these cells function and affect... each other should be analyzed ... the biologist.

3. In some industry specific human capital may be ... high demand and short
supply and other human capital may be ... excess supply.

4. Increases ... the quantities demanded typically vary ... different goods as
incomes rise.

5. Karl Marx’s contribution ... economics may be doubted these days but we
still rely ... his fundamental idea that labor is the most important factor ...
production.

6. Raw materials are taken ... the earth ... human hands, equipment used ...
this process is produced ... labor and earlier manufactured equipment.

7. Even the knowledge ... people - sometimes called ... human capital -
comes ... our own efforts to learn, as well as the time our teachers spend ...
trying to teach ... us.

8. ... order to know what agriculture's contribution ... the national economy
1S, economic statistics are needed.

9. The demand ... factors ... production depends ... the demand ...the firm's ...
output.

10. ... workers receiving wages, a self-employed man receives profit.
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11. The uses of land are ... follows: ... agriculture,... houses, industrial and
office buildings, ... recreation, and ... other purposes.

12. When more labor is invested ... a commodity, the latter becomes more
expensive.

CHAPTER 6

CIRCULAR FLOW OF PAYMENTS AND NATIONAL INCOME

To have a glimpse in the working of the economy as a whole may be of use
to a student of economics.

In every economy there are lots of households to supply labor and capital to
firms that use them to produce goods and services. Firms provide incomes for
households, who in turn use this money to purchase the goods and services
produced by firms. This process is called the circular flow of payments.

The gross domestic product (GDP) is the total money value of all final
goods produced in the domestic economy over a one-year period. The GDP can
be measured in three ways: (a) the sum of the value added in the production
within a year, (b) the sum of incomes received from producing the year’s output,
(c) the sum to spend on the year’s domestic output of goods and services.

The total money value of all final goods and services in an economy over a
one-year period, that is the GDP, plus property income from abroad (interest,
rent, dividends and profits) make the gross national product (GNP). The GNP is
an important measure of a country’s economic well-being, while the GNP per
head provides a measure of the average standard of living of the country’s
people. However, this is only an average measure of what people get. The goods
and services available to particular individuals depend on the income
distribution within the economy.

We now recognize that assets wear out in the production process either
physically or become obsolete. This process is known as depreciation. There has
to be part of the economy’ s gross output to replace existing capital, and this part
of gross output is not available for consumption, investment, government
spending, or exports. So we subtract depreciation from the GNP to arrive at
national income.

National income measures the amount of money the economy has available
for spending on goods and services after setting aside enough money to replace
resources used up in the production process.

Since output is determined by demand, the aggregate demand or spending
plans of households and firms determine the level of the output produced, which
in turn makes up the income available to households. Aggregate demand is the
amount to be spent by firms and households of goods and services.

Governments also step in the circular flow of income and payments. They
buy a considerable part of the total output of goods and services in an economy
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adding their demand to the demand of the private sector. Since government
spending 1s a large component of aggregate demand, and since taxes affect the
amount households and companies have for spending, government spending and
taxation decisions, which are referred to as fiscal policy, have major effects on
aggregate demand and output [2].

1. Translate into Ukrainian.

Household, gross domestic product, final goods, to measure, a way of doing
something, property, abroad, gross national product, average, standard of living,
however, distribution, assets, to wear out, depreciation, to replace, to exist,
spending, to determine, since, aggregate demand, to make up, considerable, to
add to something, tax, taxation, fiscal policy, input costs, total output.

2. Insert the prepositions and conjunctions, where it is necessary.

in, to, of, while, by, who, which, on, since, through, where, however, for

1. Household is a group of people ... make economic decisions together.

2. In economic theory households have two roles: they enter the market as
buyers or consumers ... goods and services produced ... firms and they provide
... factor inputs ... firms ... order to produce those goods and services.

3. The term “household” is used ... national income analysis, ... ... supply
and demand analysis it is replaced ... the term “consumer”.

4. Black economy is nonmarket economic activity ... is not included ... the

national income accounts, either because such activity does not pass ... the
market or because it is illegal.
5. Illegal economic activity may exist in the usual price system ... is

determined ... demand and supply.
6. Examples may be the purchase and sale of illegal drugs ... the street, or
alcohol ... the US prohibition era ... the 1920s.

7. ..., some nonmarket activity is carried out ... non-profit —making
purposes. For example, a housewife provides services ... her family.
8. Other nonmarket activity is done ... a barter basis; for example, ... a

mechanic serves a motor car of an electrician ... in return helps the mechanic
install light fittings ... the house.

9. ... there has been no money paid, the activity does not add ... the GDP
and so does not exist for statistics.

4. Make up the sentences from two parts.

1. Taxes have a great effect on the way

2. Economists consider the value of total output of the public sector as well
as the private sector
3. The GDP is the basic measure
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In most countries higher living standards of the typical man rather than
Import is a good which is produced abroad

One person’s spending must be

Individual incomes come either from working or from property

® Nk

When industries were first nationalized in Britain, many of them after the
Second World war, the governments’ aim was

a. their international image are of prime importance.

b. someone else’s income.

c. to provide conditions under which nationalized industries could not be run
directly by ministers, but through boards of directors with a considerable
measure of managerial independence.

d. society allocates its scarce resources.

f. which earns rent, dividends, interest.

g. to make up the gross national product.

h. and which is then transported to and sold in the home market.

1. of the total output of goods and services in the economy.

4. Complete the sentences with the words.

Household, while(2), to determine, to add to, assert, to make up (2),
property, as a whole, since, spending, distribution

1. A worker receives his wages, ... the owner of the enterprise receives the
profit from the whole business.

2. In comparing national incomes it is not important which members of the
population own these ... and earn this income; in analyzing the ... of incomes
within a country it becomes important.

3. ... macroeconomic problems characterize the economy ..., they are more
spoken about on television and in newspapers, ... microeconomic problems are
of interest to a limited number of economists.

4. Labor should not be employed when additional employment ... more ...
costs than revenue.

5. Individual income ... of wages and ... earnings such as dividends, rent,
and others.

6. The demand for labor by firms depends on its productivity which ... by
the available technology and capital.

7. The aggregate demand ... of demand in the following three sectors of the
economy: ..., government, and business.

8. To reduce the budget deficit by $12 billion it is necessary to cut
government ... $12 billion.
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5. Translate the words and sentences into English.

1. Amoptu3zaniisa (oH/IB, OMOJATKyBaHHS BJIACHOCTI, €KOHOMIKa 3arajioM,
BITUM3HSHE BUPOOHUIITBO, ICHYIOU1 (POH/IH,

2. Cepennst 3apruiata, cepedHsi CiM’s, BJIACHICTh 3aKOPJIOHOM, CYKYIHHUU
nonut, BHII, rotoBa nmpoaykiisi, piBeHb KHUTTS, OI0J)KETHA MOJITUKA, BUTPATH,
MOJIATOK.

3. CyKkyIHa MpOMO3UIis 3aJICKUTh BiJl PUHKIB Mpalli Ta TOBapiB.

4. TToTpiObHO 3HATH cepeHIN TeMIT 301TBIIICHHS 3apIIaTH 3a PiK.

5. Ilicna npuabaHHs NIAIPUEMCTBA B MUHYJIOMY MICALl HOBHI BIIACHUK HE
MOYaB 3MIHIOBATH HETAWHO BCIO KOMAaH/y YIPaBIiHHS.

6. 30UIbIIICHHS JIep>)KaBHUX BUTPAT Ta MO3UK 3A1MCHIOE TIEBHUN BIUIMB Ha
IPOLIEHTHI CTAaBKH, SIK1 OyAyTh 3alpONOHOBaH1 OAHKAMHU.

7. Mogenb kpyrooOiry npuOyTKy TMOKa3ye, Ik B TPOIIOBOMY €KBIBAJICHTI
CIM’i KyNylHOTh TOBAapU Ta MOCIYTH y (ipM, BHUKOPHUCTOBYIOUM NPUOYTOK,
OTPUMAHMI Bl MOcTa4aHHs pipmaM (HaKTOpiB BUPOOHUIITBA.

8. Cepenni mpsiMi  JIepKaBHI BHUIUIATH  aMEPUKAaHCbKUM  (dipMaMm B
cyOCHJIOBaHUX Taly3sX KOJMBAIOTHCS 3aJI€KHO BIJ po3Mipy (ipMHu.

9. Xoua Bmama CIIIA BBena peski OOMEXEHHS Ha IMIOPT 3€pHA 3
€pporneiicbkoro Coro3y, HeMae >KOJHHMX JOKa3iB, IO II€¢ 3HAYHOK MIpPOIO
ckopoTuio ekcriopt 3 €C.

6. Translate the text into Ukrainian.
Fiscal Policy

Fiscal policy is an instrument of demand management which is used to
influence the level of economic activity in an economy through the control of
taxation and government expenditure.

The government can use a number of taxation measures to control
aggregate demand or spending: direct taxes on individuals (income tax) and
companies (corporation tax) can be increased if spending has to be reduced, for
example, to control inflation. Spending can also be reduced by increasing
indirect taxes: an increase in the VAT on all products or taxes on particular
products such as petrol and cigarettes will result in lower purchasing power.

The government can change its own expenditure to affect spending levels as
well: a cut in purchases of products or capital investment by the government can
reduce total spending in the economy. If the government is to increase spending,
it creates a budget deficit, reducing taxation and increasing its expenditure.

A decrease in government spending and an increase in taxes (a withdrawal
from the circular flow of national income) reduce aggregate demand to avoid
inflation. By contrast, an increase in government spending and/or decrease in
taxes — an injection into the circular flow of national income) stimulates
aggregate demand and creates additional jobs to avoid unemployment.
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In practice, however, the effectiveness of fiscal policy can be reduced by a
number of problems. Taxation rate changes, particularly changes in income tax,
take time to make; considerable proportion of government expenditure on, for
example, schools, roads, hospitals and defense cannot easily be changed
without lengthy political lobbying [2].

CHAPTER 7
MONEY AND ITS FUNCTIONS

Money has four functions: a medium of exchange or means of payment, a
store of value, a unit of account and a standard of deferred payment. When used
as a medium of exchange, money is considered to be distinguished from other
assets.

Money as the medium of exchange is believed to be used in one half of
almost all exchange. Workers exchange labor for money, people buy or sell
goods in exchange for money as well.

People do not accept money to consume it directly but because it can
subsequently be used to buy things, they wish to consume. To see the
advantages of a medium of exchange, imagine a barter economy, that is, an
economy having no medium of exchange. Goods are traded directly or swapped
for other goods. The seller and the buyer each must want something the other
has to offer. Trading is very expensive. People spend a lot of time and effort
finding others with whom they can make swaps. Nowadays, there exist actually
no purely barter economies, but economies nearer to or farther from the barter
type. The closer is the economy to the barter type, the more wasteful it is.

Serving as a medium of exchange is presumed to have for centuries been an
essential function of money.

The unit of account is the unit in which prices are quoted and accounts are
kept. In Britain, for instance, prices are quoted in pounds sterling; in France, in
French francs. It is usually convenient to use the same unit to measure the
medium of exchange as well as to quote prices and keep accounts in. However,
there may be exceptions. During the rapid German inflation of 1922-23 when
prices in marks were changing very quickly, German shopkeepers found it more
convenient to use US dollars as the unit of account. Prices were quoted in
dollars though payment was made in marks. The same goes for Russia and other
post-communist economies that used the US dollar as a unit of account, keeping
their national currencies as means of actual payment. The higher is the inflation
rate, the greater is the probability of introducing a temporary unit of account
alongside the existing units for measuring medium of exchange.[3]

Money is a store of value, for it can be used to make purchases in future. For
money to be accepted in exchange, it has to be a store of value. Unless suitable
for buying goods with tomorrow, money will not be accepted as payments for
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the goods supplied today. But money is neither the only nor necessarily the best
store of value. Houses, stamp collections, and interest-bearing bank accounts all
serve as stores of value.

Finally, money serves as a standard of deferred payment or a unit of account
over time. When money is borrowed, the amount to be repaid next year is
measured in units of national currency, pounds of sterling for the United
Kingdom, for example. Although convenient, this is not an essential function of
money. UK citizens can get bank loans specifying in dollars the amount that
must be repaid next year.

Thus, the key feature of money is its use as a medium of exchange. For
money to be used successfully as a means of exchange, it must be a store of
value as well. And it is usually, though not always, convenient to make money
the unit of account and standard of deferred payment [3].

1. Translate into Ukrainian.

Medium, exchange, medium of exchange, in exchange for something, to
exchange something for something, exchange rate, means, store, store of value,
account, unit of account, to keep an account, to defer, deferred payment, to
distinguish something from something, to distinguish between things, to accept,
barter, trade, to trade in something with somebody, to trade something for
something, to swap for something, expensive, actually, wasteful, to waste,
convenient, exception, with the exception of this bank, rapid, currency,
temporary, to repay, loan.

2. Answer the questions.

What are the general functions of money?

How important is the function of money as a medium of exchange?
Why do people accept money as a medium of exchange?

What is a barter economy?

Why is barter economy wasteful?

When doesn’t national currency serve as a unit of account?

3. Make up the sentences from two parts.

1. Classical economists considered | a. either through private exchange
money to be no more dealers or a country’s central bank.

2. The foreign exchange market is a | b. of exchanging one kind of financial
place where foreign currencies are | asset or liability for another.

sold and bought C. Or currency.

3. Money is an asset d. without the use of money.

4. GNP is measured in the country’s | e. are an essential source of money for
local monetary unit everyday consumption and purchase of
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5. Money is used as a standard of | personal and business assets.

deferred payment, f. known to be a means of measuring the
6. Exchange rate is value of men’s labor.

7. Loans provided by commercial | g. than a medium of exchange.

banks, building societies, h. for it is an accepted measure of future
8. Swap in a money market is a | payments in contracts.

process 1. the price of one currency in terms of
9. In addition to being a means of | some other currency.

exchange money is also J. that is accepted as a means of payment.
10. Barter is a method of trading

goods and services for other goods

and services

4. Fill in the prepositions and conjunctions if it is necessary.

1. When Euro was first introduced, there was determined its exchange rate
... anumber ... European currencies and the US dollar.

2. Young families with children should be distinguished ... older families ...
no children living ... home, for they have different demands.

3. Exchange may take the form ... barter in which goods or services are
traded directly ... other goods and services.

4. The company is known ... to have been trading ... cheese ... for over a
hundred years.

5. Goods and services are sold ... money and the latter is in its turn
exchanged ... other goods and services.
6. New forms ... money are known to have been developed ... the

development ... the banking system.
7. The population ... China has been found to be increasing ... a rapid rate.
8. Loan is a sum ... money which is borrowed ... a person or business ...
another person or business.
9. The bank lends the deposited money ... customers who need ... capital.
10. The demand ... money is determined ... the quantity needed to handle
... business transactions.

5. Open the brackets and choose the appropriate word.

1. (Whenever / elsewhere) a person has to (issue a deposit / settle a debt) or
make a purchase, he can do it with either cash or a (time deposit / checking
account).

2. A bank’s main function is to be an intermediary between (lenders /
depositors) and borrowers.

3. Bank notes bring in no (interest / profit) at all.

4. There are enough workers in the factory to (owe / handle) all the available
machinery.
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5. It is typical to (issue / withdraw) bonds for the period of several years.

6. A bank (borrows / lends) the (deposited / withdrawn) money to customers
who need capital.

7. We (distinguish between / accept both) real and nominal GNP.

8. The (exchange rate / barter) is known to be regulated by the Central Bank.

9. Initially, gold and other valuable metals were used to (keep an account of
/ store) wealth over time.

CHAPTER 8

INFLATION

Inflation is a steady rise in the average price and wage level. The rise in
wages being high enough to raise costs of production, prices grow further
resulting in a higher rate of inflation and, finally, in an inflationary spiral.
Periods when inflation rates are very large are referred to as hyperinflation.

The causes of inflation are rather complicated, and there are a number of
theories explaining them. Monetarists, such as Milton Friedman, say that
inflation is caused by too rapid increase in money supply and the corresponding
excess demand for goods.

Therefore, monetarists consider due government control of money supply to
be able to restrict inflation rates. They also believe the high rate of
unemployment 1:0 be likely to restrain claims for higher wages. People having
jobs accept the wages they are being paid, the inflationary spiral being kept
under control. This situation also accounts for rather slow increase in aggregate
demand. [3]

On the other hand, Keynesians, that is, economists following the theory of
John M. Keynes, suppose inflation to be due to processes occurring in money
circulation. They say that low inflation and unemployment rates can be ensured
by adopting a tight incomes policy.

Incomes policies, though, monetarists argue, may temporarily speed up the
transition to a lower inflation rate but they are unlikely to succeed in the long
run.

The costs of inflation depend on whether it was anticipated and on the extent
to which the economy’s institutions allow complete inflation adjustment.

The longer inflation continues, the more the economy learns to live with it.
Indexation is a means to reduce the costs of some inflation effects. Indexed
wages or loans mean that the amount to be paid or repaid will rise with the price
level. Indexation has already been introduced in countries that had to live with
inflation rates of 30 or 40 percent for years. And the more countries adjust their
economies to cope with inflation, the closer they come to hyperinflation.
Indexation means that high rates of inflation are much more likely to continue
and even to increase. [3]
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1. Translate into Ukrainian.

Steady, inflationary spiral, inflation rate, hyperinflation, a cause, rather, to
explain something to somebody, to account for something, to accept, to occur, to
ensure, incomes policy, to argue, to speed, to anticipate, to some extent,
adjustment, to adjust something to something, indexation, to cope with, to bt
referred to as, in the long run.

2. Fill in the prepositions and conjunctions if it is necessary.

1. Cost... production depends ... a great extent... the technology chosen and
the price ... factors employed.

2. Reports of the European Union Statistical Commission show a number ...
ways ... coping ... the problem ... scarce information resources.

3. Greater use ... women as labor force is sometimes argued to cause ...
higher unemployment.

4. A group comprising ... the Persian Gulf oil countries, Saudi Arabia.
Kuwait, Oman and the United Arab Emirates, accounts ... less than one percent
... the world’s population.

5. An important problem facing the governments ... most less developed
countries is the extent ... which they want to maintain ... a balance ... the
agricultural and industrial sectors ... the economy.

6. Most economists agree that the government has a very important role to
play ... speeding up ... economic development.

7. The annual inflation rate has been found to be the percentage increase ...
year ... the average price ... goods and services.

8. Economic statistics are ... interest ... non-European-Union countries ...
addition ... economic policy decision-makers ... the European Union.

9. Typically people who have just faced ... unemployment are unlikely to
make immediate downward adjustments ... their standards ... living.

10. They are more likely to reduce ... their savings ... some extent.

3. Translate the sentences into Ukrainian.

1. With slow price and wage adjustment, an increase in money supply re-
sults in a temporary output rise, but eventually it only causes higher prices.

2. Although inflation may not have been anticipated at first, people learn to
adjust to it.

3. It is frequently argued that reducing the average level of inflation means
reducing risks of making decisions and plans.

4. Governments and political parties usually have to decide whether they
like the redistribution of income caused by inflation.

5. Governments think that tight monetary policies aimed at coping with
inflation are desirable.

6. Though these policies may mean higher unemployment and lower output.
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7. Industrial economies have to make severe adjustments to cope with the
rising energy scarcity.

8. Indexation means that the wages agreement will remain correct for any
anticipated inflation that occurred over the life of the contract.

9. The extent of demand, budget constraints and other factors have been
found to account for the particular level of government protection for a certain
commodity over time.

4. Open the brackets and use the verbs in the appropriate form.

1. With money supply (fo grow) relatively slowly (much less than four or
five percent per year), this (to interpret) as a result of a tight monetary policy.

2. A relatively rapid growth in the money supply (fo consider) (to be) a
result of an easy policy.

2. The difference between the real rate of interest and the nominal one is that
the former (70 adjust) for inflation whereas the latter (not to be).

3. A great number of people (cannot) (to increase) their wages rapidly and
largely enough (fo compensate) for price increases because they (to work) under
long-term contracts.

4. Lenders (to be likely) (to hurt) by inflation.

5. A two-percent increase in the rate of inflation (zo find) (to cause) a re-
duction in the real income of elderly households by about 10 percent.

6. In periods of inflation the value of money (fo know) (to reduce).

7. Good results (fo know) (to achieve) in Soviet economy during the early
1960s due to (to decentralize) decision-making and emphasis on profit rather
than carrying out plans.

8. For the past fifty years, the price level in the United States (o move) only
one way - up. In practically all years during this period, prices (7o rise).

9. Since 1955, there (not to be) any year when the price level (7o fall). This
(not to be) a hyperinflation, but it (to result) in a very large erosion in the value
of the dollar.

10. Like a beach slowly (to wear) away by the ocean, the dollar (zo lose)
gradually a considerable share of its value.

11. Prices now (to be) over five times what they (zo be) fifty years ago.

12. Although a creeping (mon3yuas) inflation (fo be) much less harmful than
hyperinflation, it (o have) a number of social costs.

5. Translate the sentences into English.

1. [IpuckopeHHs rPOILIOBOI0 00ITy BUKIUKAE O1IBIN BUCOKI TEMITH 1HQIIALIIT.

2. B ingycTpianbHUX KpaiHaX 4acTKa TOTIBKH CTaHOBUTH 10 4% TrpoOIIOBOT
MacH B 00iry.

3. IloniThka n10X0iB — 1€ crpoda MpsIMO BIUIMHYTH HA 3apOO0iTHY IJIATy Ta
1HII TOXO/IH.
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4. Konu migBumryeTbcss Temn 1HQIAIT, MPOIEHTHI CTaBKU POCTYTh, a
CYKYITHUH TIOTIUT TIa/Ia€.

5. EKOHOMICTH B)K€ BU3HAUMUIIU, III0 BUKJIMKAE 1HQIISIIITO.

6. Ypsi MOKe YXBAIHUTH JKOPCTKY TOJIITHKY, SKa Ma€ 3a0€3MeUnTH HU3bKUI
TeMn 1HOIALII.

7. IlocTiitHe 30UIBIIIEHHS TPOIIOBOI MAaCH Ma€ BUKJIMKATH 1HQIIAIIITO.

CHAPTER 9
FOREIGN TRADE

What is now called international trade has existed for thousands of years
long before there were nations with specific boundaries. Foreign trade means
the exchange of goods and services between nations, but speaking in strictly
economic terms, international trade today is not between nations. It is between
producers and consumers or between producers in different parts of the globe.
Nations do not trade, only economic units such as agricultural, industrial and
service enterprises can participate in trade.

Goods can be defined as finished products, as intermediate goods used in
producing other goods, or as agricultural products and foodstuffs. International

trade enables a nation to specialize in those goods it can produce most cheaply
and efficiently and it is one of the greatest advantages of trade. On the other
hand, trade also enables a country to consume more than it can produce if it
depends only on its own resources. Finally, trade expands the potential market
for the goods of a particular economy. Trade has always been the major force
behind the economic relations among nations [4].

Different aspects of international trade and its role in the domestic economy
are known to have been developed by many famous economists.

International trade began to assume its present form with the establishment
of nation-states in the 17th and 18th centuries, new theories of economics, in
particular of international trade, having appeared during this period.

In 1776 the Scottish economist Adam Smith, in The Wealth of Nations,
proposed that specialization in production leads to increased output and in order
to meet a constantly growing demand for goods it is necessarily that a country's
scarce resources be allocated efficiently. According to Smith's theory, it is
essential that a country trading internationally should specialize in those goods
in which it has an absolute advantage — that is, the ones it can produce more
cheaply and efficiently than its trading partners can. Exporting a portion of those
goods, the country can in turn import those that its trading partners produce
more cheaply. To prove his theory Adam Smith used the example of Portuguese
wine in contrast to English woolens.
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Half a century later, having been modified by the English economist David
Ricardo, the theory of international trade is still accepted by most modern
economists. In line with the principle of comparative advantage, it is important
that a country should gain from trading certain goods even though its trading
partners can produce those goods more cheaply. The comparative advantage is
supposed to be realized if each trading partner has a product that will bring a
better price in another country than it will at home. If each country specializes in
producing the goods in which it has a comparative advantage, more goods are
produced, and the wealth of both the buying and the selling nations increases [4].

Trade based on comparative advantage still exists: France and Italy are
known for their wines, and Switzerland maintains a reputation for fine watches.
Alongside this kind of trade, an exchange based on a competitive advantage
began late in the 19th century. Several countries in Europe and North America
having reached a fairly advanced stage of industrialization, competitive
advantage began to play a more important role in trade. With relatively similar
economies countries could start competing for customers in each other's home
markets. Whereas comparative advantage is based on location, competitive
advantage must be earned by product quality and customer acceptance. For
example, German manufacturers sell cars in the United States, and American
automakers sell cars in Germany, both countries as well as Japanese automakers
competing for customers throughout Europe and in Latin America.

Thus, international trade leads to more efficient and increased world
production, allows countries to consume a larger and more diverse amount of
goods, expands the number of potential markets in which a country can sell its
goods. The increased international demand for goods results in greater
production and more extensive use of raw materials and labor, which means the
growth of domestic employment. Competition from international trade can also
force domestic firms to become more efficient through modernization and
innovation.

It is obvious that within each economy the importance of foreign trade
varies. Some nations export only to expand their domestic market or to aid
economically depressed sectors within the domestic economy. Other nations
depend on trade for a large part of their national income and it is often important
for them to develop import of manufactured goods in order to supply the ones
for domestic consumption. In recent years foreign trade has also been considered
as a means to promote growth within a nation's economy

Developing countries and international organizations have increasingly
emphasized such trade [4].

1. Translate into Ukrainian.

Foreign trade, international trade, wholesale trade, wholesaler, retail trade,
retailer, to participate in something, to enable somebody to do something, to let
somebody do something, to allow somebody to do something, to expand, major,
according to, in accordance with, absolute advantage, comparative advantage, to
compare with something, in comparison with something, to gain, gains,
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competitive, competition, competitiveness, to compete, to compete in
something, to compete with somebody, to compete for something, relatively,
customer, innovation, aid, to promote, to emphasize.

2. Translate the sentences into Ukrainian.

1. It is essential that many businesses within each nation produce what is
most suitable to their region.

2. It is not surprising that a strong competition for customers makes
companies spend much money on production modernization and innovations.

3. The practice shows that it is natural for wholesalers to distribute goods in
large quantities, usually to retailers for resale.

4. Economists say it is desirable that the share of country’s imports should
not exceed its exports.

5. It is expected that the government restrictions should be imposed on
foreign trade in some situations to protect national interests.

6. It is important for American economy to promote trade in two main areas
such as agriculture and services but European countries are unwilling to open
their markets to American companies.

7. For poor countries it is advisable that different incentives be provided for
domestic producers who will use the country’s scarce resources in their
business.

8. It is recommended that trade should be in balance and the foreign
exchange market should be in equilibrium, each country having a comparative
advantage in at least one good.

9. As foreign trade involves international payments, it is important that
exchange rates and the balance of payment be examined.

10. The European Community has declared that it is necessary to support the
liberal and democratic reforms of its eastern neighbors.

11. It is clear that the free trade agreement of the USA with Mexico will
enable American producers to expand sales in Mexico.

12. It was necessary to provide the country with extra foreign aid after the
earthquake.

3. Open the brackets and choose the appropriate word.

1. Special agreements (allowed / allocated) the former Soviet bloc countries’
exports of meat, fruit, dairy goods and vegetables to rise by 10 percent a year for
five years.

2. The European Community due to importing and exporting (limited /
diverse) resources is considered to be a more integrated market, in which dis-
tance, information barriers and tariffs are (actually / relatively) unimportant

3. The society will (gain / economize) by restricting imports until the benefit
of the last import equals its cost to society as a whole.
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4. Special care should be taken by the government to protect economic
interests of the (depressed / competitive) groups of the population and reduce
absolute poverty.

5. Nowadays environmental management should be (adjusted / accepted) as
(an unimportant / a major) factor for any country’s national development and it
should be (emphasized / expanded) by scientific, technical and administrative
support.

6. The (wholesaler / retailer) performs the last stage of the distribution pro-
cess, for he puts the goods in the hands of the actual consumer.

7. The law of (comparative / competitive) advantage states that countries
specialize in producing and exporting the goods that they produce at a (relative /
relatively) lower cost than other countries.

8. Due to achievements of modern sciences various (advantages / innova-
tions) applied in production cycles have greatly decreased the share of labor-
consuming operations.

9. Centralized control of the production factors results from the (acceptance
/ exception) of an ideology that (emphasizes / gives rise to) the importance of
the group of people rather than the individual.

4. Fill in the prepositions and conjunctions if it is necessary.

1. Goods can be moved directly ... the producer ... the consumer, but gen-
erally manufactured consumer goods are delivered ... consumers ... indirect and
more complicated channels.

2. Wholesaling is a part ... the marketing system standing ... the
manufacturer and the retailer and providing channels ... goods distribution.

3. Wholesalers buy goods ... large quantities and sell them ... small
quantities ... retailers, thus they simplify the distribution process.

4. Dealing directly ... diverse producers and trading ... a large assortment of
items, wholesalers ... the same time trade ... numerous independent retailers, so
wholesaling is ... great importance both ... manufacturers and retailers.

5. Small businesses are known to participate ... the field of wholesaling,
about one-fourth ... wholesaling units accounting ... one- third of total sales.

6. Thousands ... retailers are known to compete ... each other ... consumers
... the market and their major purpose is “to have the right goods ... the right
place ... the right time”.

7. To be successful a retailer should distinguish itself... others and carry ... a
strategy ... meeting the demands ... a specific consumer group.

8. This strategy includes ... careful consideration ... the following questions:
1) the quality ... the product to be sold; 2) the available quantity ... the product;
3) the location ... the selling place; 4) the time to make the product available; 5)
the pricing ... the product; 6) product advertising.
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9. Many kinds ... retailers such as department stores, specialty stores,
discount stores and others compete ... providing consumers ... a convenient time
and place to buy needed goods.

10. As retailers are able to contact ... consumers directly, the former can
study and influence ... the needs and preferences ... the latter.

5. Translate the sentences into English.

1. Mi>xxHapo/Ha TOPTIBIIA, M0 OXOIUTIOE OOMIH TOBapamu 1 MOCTyraMHu MiX
KpaiHaM#, CIPUYMHUJIA OLIBITY B3a€EMO3AICKHICTh MK €KOHOMIKAMHU Pi3HUX
KpaiH.

2. BaxxnuBo, 11106 MiXKHapOAHA TOPTIBIIS J03BOJISUIIA KpaiHi CIeIiani3yBaTHCS
HAa THX TOBapax, sIKI BOHA MOKE BUPOOJSTH JelIieBIIe W e(eKTHBHIIIE, HIXK
KOHKYPEHTH.

3. baratro €KOHOMICTIB BBaXXarOTh, L0 TOPTiBJs, 3aCHOBaHA HAa MPUHLUIII
BIJIHOCHOI IepeBaru, JAa€ MOXJIMUBICTh KpaiHl OTPUMYBATH OUIbILIE TOBApPIB, HIXK
BOHA MOK€ 3pOOMTH, BAKOPUCTOBYIOUH TIJIbKH CBOI PECYPCH.

4. IlpyHUMNIA  PO3BUTKY MDKHApPOJHOI TOPTiBIl, PO3TJSHYTI TaKUMH
BIJIOMUMHU eKOHOMicTamH, ik Anam Cwmit 1 JlaBun Pikapao, sik BBaXKaroTh, €
OCHOBOIO Cy4aCHUX €KOHOMIYHHUX TEOPiH.

5. KoHkypeHIiis ik Ha CBITOBOMY PHMHKY, TaK 1 BCEPEIIMHI KpaiHU 3MYIILye
BUPOOHMKIB TOKpAIIlyBaTH SKICTh TOBapiB, 3AIMCHIOBATH MOJEPHI3ali0 1
BHOCHUTH HOBOBBECHHS, 100 3aly4UTH OUIbIIE CIIOKUBAYIB.

6. Po3BUTOK MiXKHApOJHOI TOPTIBII JO3BOJSE KpaiHl PO3MIMPUTH PUHOK
TOBapiB, OUTBII paIioHATHLHO BUKOPUCTOBYBATH CUPOBUHY 1 TPYIOBI pecypcH, a
TaK0X JOMIOMOI'TH OCJIabJI€HUM CEKTOpPaM MiCLIEBOi EKOHOMIKH.
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PART 2

TEXTS FOR TRANSLATION FROM UKRAINIAN INTO ENGLISH

Text Ne 1

CroxuBaui BIAPI3HAIOTHCS OJIMH BiJl OJHOTO 3a BIKOM, PIBHEM JOXOJIB,
OCBITOI0, MOO1JIbHICTIO, cMakaMHu. /{7151 crienianicta 3 MapKeTUHTY Ma€ 3HAYCHHS
IpyIMyBaHHA iX 3aJIeXHO Big moTpeO. SKiio Oyab-sgKa rpyrna CrloXuBaviB JOCUTh
YHUCellbHA, TO JeAKl KOMIMaHii MOXYThb 30CEpeIUTH CBOI 3yCHIUIS IS
3aKpiMJIeHHs Ha mMX puHkax. [Ipukmanom Takux crneuu@iyHUX TPyHm MOXKYTh
OyTH: MOJIO/b, JKIHKH, JIFOAU TMOXHIJIOTO BIKY TOIIO. Y CBOIO 4epry, BCEpPEAuHI
UX TPyN MOXHA BUIUIMTU NEBHI miaArpynu. Tak, cepea Moioal crenudikoro
MOBEIIHKH HAa PUHKY B1API3HAIOTHCS MIJUTITKH, MIKOJSAPL, CTYAEHTH [5].

Text Ne 2

B ymoBax mopiBHSIHO ¢J1a0KOTO PO3BUTKY PUHKY MPOABIIEBI Y CHIJIKYBaHH1
3 MOKYyIIEeM OYyJ0 JOCTaTHhO BJIACHOTO IMOACHHOrO MocBiay. OmHak y Mipy
30UTBIIEHHST KIJTBKOCT1 MIANPUEMCTB-IIPOJIABIIIB Ta BUHUKHEHHS CHEIU(IIHUX
PHUHKIB JUISI OKPEMHX T'PYIT IPUHHATTS YUCEIBHUX PIIIEHb 3 MAPKETHUHTY OLIbIIE
HE 3JICKUTHh BijJ] Oe3mocepeHiX KOHTAKTIB 3 MOKYMISIMU. 3pOCI0 3HAYEHHS
BUBYEHHS MMOBEIIHKH IMOKYTIIIB.

Crnermianmict 3 MapKeTHUHTY MpH JOCIHIPKEHHI JII0YOTO YW MPU BUBYCHHI
MOXJIMBOCTE HOBOT'O PHUHKY Ma€ TMOCTaBUTU 1 OJEp)KaTH BIJAIMOBIAI Ha Takl
3allUTaHHS: LI0 KYIyeTbcs Ha PUHKY? (00'€KTH KyMiBil); 4OMY KYMYETHCS?
(MeTa MOKYMKH); XTO Kymye? (MOKyIelb); K Kymye? (omeparii mija yac KymiBii);
KoM Kymye? (4ac KymiBii); e Kymye? (micie Kymiii) [5].

Text Ne 3

KoxxHoro ToBapoBHpOOHUKA IIKaBUTh MUTAHHS, SK MOKYIEIb pearye Ha Ti
YHUCEIbHI CTUMYJIM JO TOKYIOK, 3 SKMMM BIH 3yCTpPI4a€eTbCs HA PUHKY:
acOpTMMEHT TOBapiB, I[iHM, pekiama, 000 MaTu TepeBaru nepex
KOHKypeHTamMu. Tomy B A1JIOBOMY CBITI BUTPAda€ThCsl Ay>Ke 0arato KOIITIB 1
yacy Ha JOCIIDKCHHS TaKOTO BiJHOIICHHS, SK PUHKOBI CTUMYJM 1 peakilis
MOKYTIIIB.

3 1i€r0 MeTOI0, HacamIepe 1, OyAyIOTh MEBHY MOJIENb TIOBEIIHKH MOKYIIIIIB.
3 yciei pi3HOMAHITHOCTI BIJOMHUX MOJEJNEH IHTEpeC BUSBISAIOTH Ti, Y SAKHX
BUJUISIIOTBCS: 30BHINIHI 30yJHUKH; TMPOLIECH CHOPUMHATTA 1H(oOpmarii Ta
OPUMHATTA pIIIeHb O[O0 KYIIBII; BHYTPIIIHI H 30BHIIIHI (DaKTOpH, IO
BIUIMBAIOTh HA BUHUKHEHHS MNOTPEOM 1 MOTHBAIUIO MOBEAIHKU TOKYIIIIB.
Buxonsum 3 Takoro miaxoqy, MPOMOHYETbCS MOJENb, KA XapakTepHa IJis
CUTYaIlli «pUHKY MOKYIIIB» (IKUH y HacC 11e He icHye) [5].
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Text Ne 4

[lepmnii 00K MOAENl CTAHOBIATH 30BHIIIHI CTUMYJH, IO CTUMYJIIOIOTh
KYIIBIIO TOBapiB. BiH CKIagaeThes 3 IBOX YaCTHUH — PUHKOBI CTUMYJIM Ta 1HIII
ctumyiu. Jlo pUHKOBUX HaleXaTh: XapaKTePUCTHKH TOBapy, IliHA, MicIe
OpoAaxky, pekjama ToIo. [Hm — e piBeHb PO3BUTKY MPOAYKTUBHUX CHII
(3 ypaxyBaHHSIM 3ac00iB BHUPOOHMIITBA, TEXHOJIOT1i, HaAYKH) Ta BUPOOHUYMX
BITHOCHH y CYCHUIbCTBI; MOJITHMYHA CHUTYyallisl (CTYHiHb PO3BHUTKY JEMOKpATIi,
BITHOCHHU MiX COI[iaJIbHUMHU TPYIaMU HACEJICHHS TOIIO); PO3BUTOK KYJIbTypH
CYCIILJILCTBA B IIUPOKOMY PO3yMIHHI IILOTO CJIOBA.

Jpyruii 670K — TpOIEeC COPUUHATTS MOKYIIIEM PO3TJISTHYTUX CTHMYJIB.
Bin noB'si3aHuil 3 MAKIIOUEHHSIM MaM'sTi 3 npuBoAy 1HGoOpMallii B MUHYJIOMY,
NOPIBHAHHAM i 3 ICHYIOUOIO CHUTYAIlI€I0 Ta 30CEPEPKCHHSAM yBaru Ha LbOMY
00'eKTI.

Tperiit 6;10k — mpoliec NPUIHATTS PILICHHS MOKYIILEM — OXOIUTIOE K1JIbKa
etamiB. Moro MoxHa JOCHIZUTH SIK caMoCTiiHMiI mporiec. OJHAK BaIHBO
3a3HAYMTH, 110 Ha MPOIEC MPUNHATTS PIlIEHb MOKYIIIEM BIUIMBAIOTH HE JIUIIIE
30BHIIIHI, @ ¥ BHYTpIIIHI (IICUXOJIOT1YH1) CTUMYJIM Ta 30BHIIIHI (haKTOpH, SK1
MOB's13aH1 3 0CO00I0 CAaMOTO TTOKYMIIS (YeTBEPTUH 1 T'ATHI O10KM) [4].

Text Ne §

Ha BuOip mnokymniiB, $SK MH TEPEKOHAINCS, BIUIMBAIOTh COLIAIBHO-
eKOHOMIYHI, KyJIbTypHi, OCOOMCTI Ta MCUXOJIOT1UHI (PaKkTOpH. 3HAYHOIO MIPOIO
BOHU HE KEPYIOTHCS 1 HE KOHTPOJIIOIOTHCS 3 00Ky BUPOOHHKIB (ITPOABIIIB), ajle
MalOTh BPAaxOBYBATHUCA HUMH ] 4ac MPUUHSATTS pillleHb MPO BUPOOHUITBO 1
npoaax ToBapiB. Ilepmia rpyma ¢akTopiB — EKOHOMIYHI ¥ MOJITHUYHI —
BIUIMBA€E Ha 1HII (QakTopH (ColialbH1, KyJIbTYpHI) OlNblIe, HIXk Oe3MmocepeHbo
Jli€ Ha MOBEIHKY KOHKPETHOI JIIOAUHU. AJie pa3oM 3 TUM HE BapTO iIrHOPYBAaTH
TOW (pakT, MO0 3araJibHEe TOJIOKEHHS 3 PO3BUTKOM MPOIYKTUBHUX CHJ 1
BUPOOHUYMX BIIHOCHH Y CYCHUIbCTBI BIUIMBA€ Ha PO3BUTOK MOTPEO, a OTXKE, Ha
TIOBE/IIHKY CTIOXXMBa4a Ha PUHKY. BiJbIl HAOYHO IIeH BIUIMB MPOCTEKYETHCS Ha
KpaHIX MoJirocax Mpolecy BIATBOPEHHS — 11 Yac Kpu3u U miaiomy [4].

Text Ne 6

B ymoBax kpu3u MOMMUT BUMEPEKAE MPOMO3UIIIO, 1[0 CIIOHYKA€E MOKYIIIB
3amacaTtd TOBapH, KyIyBaTH iX «Ipo BCSK BUIAIOK», 0€3 0coONMHMBOi Ha Te
noTpeOn Ha Ied MOMEHT. AJie OAep)Kylouu MEeBHY iH(opMmaIliio mpo cTaH
CBITOBOTO PUHKY, JIFOJMHA CBiZIOMO YW HECBIJOMO MOYMHAE OPIEHTYBATHUCS HA
fioro piBeHb. LIbOMy crpusitoTh TesneOaueHHs, peKJIaMHI MPOCHEKTH, KypHAIU
Tomlo. Take MpOTUPIYYSI MK MPOTPECOM Yy TIOTITHIIL 1 3aCTOEM B €KOHOMIIII 111€
O1JIBIIIE 3aTOCTPIOE CUTYAIlII0 HA PUHKY, TOCUJIIOE€ PUHKOBI AUCTIponiopiii [4].
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Text Ne 7

Mogens pPUHKOBOI €KOHOMIKM Tiepefdadae pi3HOMAHITHICTE (popMm
BJIACHOCTI, IMIMPOKY €KOHOMIYHY CaMOCTIMHICTh YCiX i1 Cy0'ekTiB. 3BHYAHO,
BCE 11 MO3HAYAETHCS Ha MOBEAIHIN MOKYMIIIB. Y CHUTYaIlii, KOJU HEe MOTPIOHO
HIYOTO JIiCTaBaTH i MPOOHWBATH, a JIUIIEC KYIyBaTH TOBAp, KU MPOTIOHYETHCS,
MOKYTICI[b OCBOIOETHCS JOCUThH MIBUIKO. [locTiiiHE BUBYCHHS 1 MPOTHO3YBaHHS
WX 3MiH — Ba)XJIUBE 3aBAaHHS JJIs1 JJOCJIITHUKIB PUHKY.

Ha moBemiHky TOKyIISI 3aBXAM BIUIMBAIOThH COIIANIbHI (DAKTOPH, cCepen
SKUX BaXKJIUBE MICIIC 3aiiMa€ COIIaJIbHUM CTaTyC. 3BHYAWHO, JUISI MApKETUHTY
Ma€ HEBEJIMKE 3HAYCHHS TPAJWIIMHUA PO3MOJII BChOTO CYCIUJIBCTBA Ha
pOOITHUKIB, CesH Ta IHTENIreHmito. Takui mMmiaxia He BigoOpaxye BCl€i
PI3HOMAHITHOCTI COLIAJBHOTO CTaHy JjAel y cycnuibcTBl. Hampukian, y
CIIA BuUAIAIOTH IIICTh COINIAJBHUX KJaciB: BHINMK 3 BUIIUX (Maibke 1%
HaceJeHHs); HWk4uid 3 BUIIUX (2%); Bummil 13 cepeanix (12%); Huxumii i3
cepenHix (30%); Bummii 3 HIKuuX (35%); HOKUnii 3 HIkuux (20%) [5].

Text Ne 8

OcCHOBHI TiAXOAM, SIKHMHU BapTO KEPyBAaTUCS MPU BHUBYEHHI IMOBEIIHKU
MOKYTIIiB 3aJIEKHO BiJl COIIAIbHOT 03HAKM, Taki. Hacammepes, Mae 3Ha4YeHHS, Y
YUl BJIACHOCTI 3HAXOAUTHCA MIANPUEMCTBO, HA SKOMY JIOAMHA MPAIIOE
JOCUTh TPHUBAIMNA TEpiof — JIepKaBHE, KOOMNEpaTUBHE, KOJECKTHBHE,
1HAMBIAyalIbHE, CTIUTbHE TOIIO. Jlaji Ba)JIMBO BpaxyBaTu peasibHE BIIHOIICHHS
IpaliBHUKIB 10 3ac001B BUPOOHMIITBA 1 pe3yIbTATIB CBOEI Mpalli, 10 3aJEKUTh
BiJl BUKOPUCTAHHS OPEHH, JTI3UHTY, MIAPSIAY Ta 1HIIKUX (OpM B3a€EMOBITHOCUH
TPYAOBHUX KOJEKTHBIB 3 BJIACHUKOM 3ac00iB BUpoOHHUIITBA. HacTymHuit MOMeHT
— XapakTep 1 3MICT mpaiii, TOOTO YU € MPaIiBHUK POOITHUKOM, CIEIIaIiCTOM,
YIPaBIiHIEM. 3pEITO0, BaKJIMBE 3HAYEHHS MAa€ PO3MOJALT MpAalliBHUKIB 3a
ixHIMA Aoxomamu. Yci 11 (aKTOpH BIUIMBAIOTh Ha TOBEMIHKY MOKYMIIB Ha
puky. CremiaibHe AOCTDKEHHS MAa€ TIMOKa3aTH, SK 1 SKOI MIpOI0 IIe
Bi10yBaeThes [J].

Text Ne 9

MoTtuBariisi HOBEIIHKM KOKHOTO MOTEHIIMHOTO MOKYMIIS Ha PUHKY 3aJICKUTh
BiT TOro, A0 SKOi Tpynu JroAed, o0'eqHaHux 3a (opMandbHUMU YU
He(OpMATLHUMH O3HAKaMH, BiH HaJeKuTb. JIonu 00'€qHYIOTHCS B CyCIIJIBHO-
NOJITHYHI opraHizauii — mapTii, ¢poHTH, pyxu. CTBOPIOIOTHCS PI3HI CILIKH,
acoriaiii 3a npo(eciitHOI0 03HAKOI0 — MUCHbMEHHUKIB, Xy0’KHUKIB, 1HXEHEPIB,
CTYACHTIB TOILO. AKTUBI3YBaBCs PENITiHHUN PyX, KU JaleKO HE OJHOPIIHHIA.
Jlero MeHIIMH BIUIMB Ha TMOBEAIHKY JIOACH CHpaBIAIOTH Pi3HI KIyOW 3a
1HTEpecamu, CIIOPTUBHI KJIIyOH, OpraHizaliii 3a MiclieM NpoXXuBaHHS [4].
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Text Ne 10

Jlronsim, 1110 BXOAATH O IIUX T'PYM, BIACTUBE MParHeHHs YHi1(IKyBaTH CBii
CIOCIO KUTTSA, Y TOMY YHCJ y NpUAO0aHHI MaTepiaabHUX Onar. 3BUYaiiHO, Y
MOJIO/II 1€ TparHeHHs BHUpPaXXeHe OUIbII 4YITKO, HDK Yy JIOACH 3 TEBHUM
KUTTEBUM JOCBIIOM. AJie 1€ HE O3HA4Ya€, IO MPEACTABHUKH 1HIIUX BIKOBUX
rpyn He nepedyBaloTh MijJ BIUIMBOM CBOTO OTOYEHHS MpPU BHOOPI, HANIPHUKIA/,
aBTOMOO1IL, MeOJIEBOTO TapHiTypa, MarHitodoHa. JlociaiaKkeHHsT MIATBEPIKYE
JIOCUTh TICHUHN KOPEAIMHUN 3B'S30K MK MPUHAICKHICTIO TOKYIIS 10 OYy/1b-
SIKO1 IPYNH Ta MOBEAIHKOI HOTro Ha pUHKY. el 3B'I30K MOCUIIIOETHCS Y MIpY
TpaHcopMmarlli «pUHKY IPOJABIIIBY Y «PUHOK MOKYTILIBY» [4].

Text Ne 11

Bynb-sika 0ocoba 0THOYACHO € yYaCHUKOM 0arathoxX 00'e€qHaHb JIOACH: CIM'T,
Kiy0y, TPYAOBOTO KOJIGKTHBY, 1 BHMKOHYE B HHUX IE€BHY poisib. CKaxiMmo,
COpOKapiYHUHN YOJIOBIK MOXKE OYTH CUHOM 1 OaThKOM, IIepeOyBaTH y TEHICHOMY
KIIy01, OyTH YiIeHOM Oyab-sIKOTO0 KYJIbTYpPHOTO TOBapUCTBA W JIUPEKTOPOM
nignpuemcTBa. [leperiTarounce, i poJii 3yMOBITIOIOTH NTEBHUN CTATyC JTIOIUHU
y cycninascTBi. [linTpuMytoun mei cratyc, BoHa Oyne Mpe'sBiIsSTA HA PUHKY
1HII BUMOTH, HDK, HANPUKIAJA, TMOKYIElb, 0 «TPae» IHIIY POjib, XO04a BOHH
OyAyTh CXOKHMH 32 paHille pO3TISHYTUMHU COLIIAIbHUMU O3HaKamu [6].

Text Ne 12

OyHKIlIS TEpepo3NoAily HAIOHAIBHOTO JOXOMy 4Yepe3 OJIepKaBICHHS
¢dbinaHciB 3a0e3medye TpoOLEC BIATBOPEHHS B Cy4aCHUX YMoOBax. BiH
3MIACHIOETBCS NUIIXOM  IIUJIECIIPSMOBAHOT  TOJATKOBO-OIO/DKETHOI  MOJIITUKU
JepXKaBH, 3a JIOMIOMOTOI0 $IKO1 Jiep)KaBa aKyMYJIO€ BEJIMYE3HI KOILUTH, IO
CTBOPIOIOTH MOXJIMBICTh JIEP)KAaBHOTO BIUIMBY Ha €KOHOMIKY. DyHKIs
CTBOPEHHSI Ta PO3BUTKY COIIIATBHO-CKOHOMIYHOI 1H(PACTPYKTYypH TOJSTAE Y
3a0e3neueHH] KUTTEASUIBHOCTI Taimy3eil, sSiKi CTBOPIOIOTh 3arajibHi YMOBH IS
(GYHKIIIOHYBaHHS €KOHOMIKHM (€HEpreTuka, TPaHCIOPT, 3B'S30K), CIPHUSIOTH
BIJITBOPEHHIO P0o00YOi CHTU (OXOpOHA 370POB's, OCBITA, KUTJIOBE OYHAIBHHUIITBO).
VY HEX IEHTpalli30BaHE PETyJIOBAHHS MPAKTUYHO HE KOHKYPY€E 3 PUHKOBUM, a
HaBITaKH, MABUIIYE €(DEKTUBHICTh OCTAHHBOTO HAa MaKpOpiBHI [6].

Text Ne 13

[TpoBOASATHCS TaKOX TOCIHITKSHHS 3 METOI0 BU3HAYCHHS POJIi Y TIPUHHSTTI
pIllIEeHb KOXKHOTO YJieHa CiM'T BXKe iJ] 4ac KyIiBJIl KOHKpETHUX ToBapiB. Lli maHi
BUKOPHUCTOBYIOTh TIPH PO3POOIIi XapaKTEpUCTUK TOBapy. 3'sICOBAaHO, IO JAyMKa
YOJIOBIKA JIOMIHY€E MPH KYIIBJI TEJIeBI30pa, aBTOMOOLIS; APY>KUHU — TPaIbHOT
MAaIIHH, KOBJIP, OAATY, MeOJIiB, KyXOHHOTO TPUIAA/Is; CIIJIFHO MPUHMAIOTh Pi-
IICHHS MiJ Yac KymiBal MeOMiB AJis BiTaldbHI, 1HAWBIAYaJIbHOTO OYIUHKY.
JlochmiKeHHSIMH  BCTAHOBJIEHI TaKO BIAMIHHOCTI B OINHI CIOXXKUBYHX
BJIACTMBOCTEH OJHOTO TOBapy pi3HUMHU ujeHamu ciMm'i. BoHum Takoxx MaroThb
BUKOPHCTOBYBATHCS MPHU pO3pOOIIl CTpaTerii MapKeTUHry [4].
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Text Ne 14

Benuka rpyna ¢aktopis, sKi BIUIMBaIOTh Ha PO3BUTOK MOTPeO, a 3roJoM i
Ha TIOBENIHKY IOKYMI[IB HA PHUHKY, MOB'A3aHAa 3 PIBHEM PO3BUTKY KYJIbTYpH,
HAI[IOHAJIbHUMHU XapaKTEPUCTUKAMH, reorpapiqyHuM pO3TAIlyBaHHSIM DPETIOHY.
Po3pi3HAIOTH KyJIBTYpH ICTOPUYHUX €M0X — aHTUYHA, OypKya3Ha, HalllOHAJIbHI
(pociiicbka, (paHiry3bka), chep CyCHiabHOTO XKHUTTS (TIparl, MoOyTy, MOJITHKH)
TOMIO. 3pEmITOI0, y KyIbTypli MOXe (IKCYBaTHUCS CIIOCIO KUTTEMISUTBHOCTI
OKpeMOoro iHauBia (0coOMCTa KylbTypa), COLIAIBHOI TPYNH UM CYCHIJIbCTBA
3arajom [5].

Text Ne 15

Ocp sk XapaKTepPU3y€eThCs, HANPUKIAL, Ha61p KYJIbTYPHUX I[IHHOCTEH
aMEPUKaHIIA, SIKHA HapOJUBCS 1 BUPIC Yy MiH KpalHl nepe6yBanqH 1] BILTMBOM
HABKOJIMIITHLOTO OTOYCHHS: JOCATHEHHS M YCHIXHW, aKTHUBHICTh, MParMaTu3M,
nporpec, MarepiaJibHuMl KoMQopT, 1HAWBIAYyali3M, CB0O0OJA, TyMaHHICTb.
CBo0oja Hallii po3MOYMHAETHCA 3 €KOHOMIYHOI CBOOOIM, TOOTO 3 MOKJIMBOCTI
OOMIHATH 3apoOJIeHI Tpollll Ha MarepialibHi Oyara. Y mpolieci CTBOPEHHS
TaKOTO PUHKY BapTO OOOB'SI3KOBO BpPaxOBYBAaTH HalllOHAJIbHI, OCOOJHUBOCTI
Hapoz[iB AK1 TPOXKUBAIOTh Ha L1 TepUTOpii. 3aMICTh MEXaHIYHOTO PO3MOMALITY
TOBaplB 3a Oyab-IKUMH HOpMaMHu Tpeba Opatu 1o yBaru, nie 1 qOMy 3 HAaIlO1B
BITAIOTH nepesary KaBi, 4aro ab0 KoMmImoTaMm; J€ 1 4OMy JKIHKH JIFOOJISAThH
HOCHUTH CYKHI CIIOKIHHMX TOHIB YM CTPOKaTi, OApBUCTI, a YOJOBIKH BIIMAOTh
nepeBary eBHUM TOJIOBHUM yoopam Tomio [5].

Text Ne 16

[TpoTsiroM >KUTTS CMaKu JIFOJAWHA MOKYTh 3MIHIOBATHUCS. JlesKi JOCTiTHUKH
MapKeTUHTY TMPOTIOHYIOTh BPaxOBYBaTH TakKoX cimedHuir craryc. CiMm's B
KOXXHOMY TIEpiofl )KUTTEBOTO IUKIY Ma€ MeBHI nmoTpedu. Tak, moBHa ciM's Ha
nepurii ctaaii po3BUTKY € OCHOBHUM IOKYIILEM MPaJIbHUX MAIlliH, TeJIEBI30PiB,
MPOJIYKTIB XapuyBaHHs JJIsl MaJICHbKUX JITEH, iIrpalliok, To/Il SK IMOBHA CIM'Sl Ha
TPETii CcTafil € COKKUBAa4YeM JIOPOTO1 paioeNeKTPOHHOI armapaTypu, MOTOPHHUX
4yoBHIB TOIIO. [I[pruoMy posti oKpeMux 4jeHiB CiM'l, IXHI! BIUIMB Ha PIIICHHS,
110 IPUAMAIOTHCS, MOKYTh 3MIHIOBATUCS Ha PI3HUX CTAIisIX KUTTEBOTO ITUKITY.

Text Ne 17

[Ipodecis, 3BruaitHoO, TakoX € (HaKTOpOM, SIKUW BIUIMBAE HA TOMHUT MOKYIIIIS
Ta MOBEAIHKY MOT0 Ha pUHKY. TyT Mae 3HAYEHHS SIK CIEIIATbHICTh, TaK 1 PIBEHb
kBamdikarii. CremanictTd 3 MapKeTUHTy MaloTh Hamaratucs JOCiIKyBaTu
B32€MO3B'A30K MK MPO(ECIMHUMH TpynaMu JIF0JIel Ta IXHBOIO 3allIKaBIEHICTIO Y
npua0aHHI KOHKPETHUX TOBapiB 1 mocnyr. IlinnpueMcTBO HE MOXKE OpIEHTYBATH
BUPOOHUILITBO CBOEI MPOYKIIii, pO3paxOByIOUH HA KOHerTHl npO(becu/IHl TpyIH.
Tak, pO3BUTOK BHUPOOHWIITBA TMEPCOHAIHLHUX KOMI'IOTEPIB 1 MPOTPAMHOTO
3a0e3neueHHs] Mae OOOB'A3KOBO CYNPOBOKYBATHCA BHBUEHHSIM MHPOQECIHOTO
CKJIQy MOTEHIIMHUX CIIOKUBaYiB [4].
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Text Ne 18

Ocaita TicHO TOB's3aHa 3 Tpodeciero, OAHAK II€ HE TOTOXHI TIOHSTTS.
Matoun, B IpUHLUII, OJHAKOBY OCBITY, JIIOAU MOXYTh MaTH Pi3HI mpodecti.
MoskHa TakOX TMIABUIIYBAaTH pIBEHb OCBITH, HE 3MIHIOIOYM mpodecii.
BcranoBneno, mo e (aktop BIUIMBA€ Ha MOMUT 1 MOBEAIHKY MOKYMIIIB Ha
PUHKY. A 11e O3Hayae, 110 31 3MIHOKO PIBHSI OCBITHU SIK OKpPEeMOi 0COOH, TaK 1
MEeBHOI COIIAJIbHOI TPYIU BApTO YEKATH MEpeopieHTallli nonuty Ha puHKy. Lli
TEeHJICHIIII MaroTh mepeadadyat W aHali3yBaTU JAOCHIIHUKHA MapKETHUHTY,
KOMepcaHTH. JIuiie 30BCIM HEKOMIIETCHTHUM JIIOJIIM Y c(epi TOPTiBIl MOXKYTh
3aTUCs Herepen0aueHuM «Oym» Ha KHUTH B 70-X, BETMYE3HUH MOMHUT HA KOM-
n'I0TepH, PO3MHOXKYBAIbHY TeXHIKY y 80-X pokax. Lle 3acBimunnm, Hacammepes,
CTaTHCTUYHI JaHI PO 3POCTAHHS YMCEIBHOCTI CHEIIaICTIB 3 BUIIOI OCBITOIO B
nepio1, Mo MepeayBaB mboMmy «Oymy» [5].

Text Ne 19

3pocTaHHs PiBHS JOXO/IB MiJBUIIYE MIATOCTIPOMOKHHUMA MOMUT HACEJICHHS,
ajie OJIHOYAaCHO BIH MoOke OyTH He 3a0e3nedyeHuid BIAMOBIIHUM TOBAPHUM
MOKPUTTSIM. Y IMX yYMOBaxX HEOOXiJAHI JIOCUTh THYYKE I[IHOYTBOPEHHS, 3MiHa
ACOPTHUMEHTHOI CTPYKTypHu TOmIO0. JII0OaU OMHOTO COIiaIbHOTO KIacy, piBHS
KYJIbTYpH, TPOQEeCIHHOI HAJIEKHOCTI JOTPUMYIOTHCA JTOCUTHh PI3HOTO CIOCOOY
KUTTs. OCTaHHIN, 1O CyTi, € MOACIUTIO JKUTTS OCOOH, sIKa BUPAKAETHCS B 3a-
XOIUJICHHSIX, YYMHKAX, IHTEpecax, TyMKax [5].

Text Ne 20

Po3pobiisitoun  MapKETUHIOBY CTpaTerito, CHEelIaliCTd MalwTh 3HAWTH
B3a€MO3B'SI3KM MDK TOBAapOM, IO BHUPOOJISETHCA, YW HOrO aCOPTUMEHTOM 1
rpynamMy JIIOAEH, g SKUX XapaKTepHUW TOM 4YM IHIIUK Crmocid KUTTI. Sk
NpaBujIo, Il JOCTIIKEHHS CYIPOBOKYIOThCS 300pOM  BEIIHMKOI  KIJIBKOCTI
1H(dOopMaIli Mpo 3aXOIUICHHS, IHTEPECH, JYMKH JIFOJIeH, 1eMorpadiuHy CUTYaIllto,
sKa MOTIM OOPOOJISETHCS Ha KOMITHOTEpaX 3 METOIO MOIIYKY TaKUX CIeIU(pIIHUX
TpyM y Ll MICIIEBOCTI, PETiOHI UM y BCii KpaiHi. 32 IUMU JAaHUMU 31HCHIOETHCS
KjIacuikailisi CHOXKMBadiB 3a KPUTEPIEM IMEBHOrO crocoOy »kuTTs. HaykoBa
COLII0JIOT151 — OCHOBA MapKeTUHTY [6].
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PART 3
CONTROL TESTS

Lexical Test 1

1. Translate the following words and expressions.

To be faced with the problem, private ownership, to set the price, gross
national product, elasticity, items for sale, expenditures, compound interest, to
operate a business, sole proprietorship, the principal, preferred stock,
productivity, insurance, interchangeable, competition, barter economy, currency,
to control taxes and spending, to restrict trade.

2. Translate the following sentences into Ukrainian.

1.

People in business buy or sell land or other natural resources if they think
they can profit from the transaction.

Sometimes things happen that change the demand for an item at each and
every price.

One of the main reasons people save their money is to earn interest, the
income from allowing someone else to use one's capital.

The amount that they earn is known as the rate of return which is
expressed as a percentage of the amount on deposit for a period of a year.
Small businesses face many problems.

Bad economic times affect small business more than they do big
business.

. In addition, small business profits tend to fall faster, and small businesses

are more likely to fail.

A security exchange is a market where brokers meet to buy and sell
stocks and bonds for their customers.

The largest of the securities exchanges are the New York Stock
Exchange and the American Stock Exchange.

10. To an economist, everything that takes place between production and

consumption falls into the category of marketing.

3. Translate the following sentences into English.

1. Ciouatky MU BUPILIMIN BUBUUTH MOMHUT HA 111 TOBAPH.

2. KoxHa ciM’sl peTebHO IIJIaHy€ CBOI BUTPATH Ta 3a0IIa[KEHHS.

3. OOGmirariii MOKHa KyITUTH Maike B yCiX OaHKax.

4. 3ano3uyeHa cyma Oyjie BUILJIaueHa I1€0 KOMITAHIEO 3a PiK.

5. Hacenenns B 1iii KpaiHi 3apa3 3pocTae MIBUIIIE, HI)K BUPOOHUIITBO.
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Lexical Test 2

1. Translate the following words and expressions.

To make choice, individual consumer, entrepreneur, household, quantity
goods and services, supply, passbook loan, rate of return, to pay taxes, surplus,
to leave voting rights, income statement, output, consumption, trademark,
collusion, durability, medium of exchange, to have serious drawbacks,
advantage.

2. Translate the following sentences into Ukrainian.

1.

Marketing, then, includes the activities that bring the buyer and seller
together.

Marketing includes buying and selling, transporting and storing, product
planning, market research, product support, customer service, financing,
insuring and other activities.

Markets exist wherever people come together to buy and sell their goods
and services.

In economic systems during such hours, consumers and producers
exchange their goods and services in many competitive markets.

. When taxes are reduced, individuals and business firms will have more

money available to spend for the things they want.

As business and consumer spending begins increase, the economy will
enter the expansion phase, if taxes are increased consumers and business
would have less to spend.

The price paid for the use of land is called rent.

. The right to private property gives the owners of natural resources and

capital the incentive to use their assets as they can.
Because consumers make up the largest economic sector, the level of
consumer spending has a direct impact on the economy as a whole.

10.Sole proprietorships are the most numerous kind of business

organization, but most are very small.

3. Translate the following sentences into English.

1. JloBrocTpokoBl MO3WKH OyAyThb BHUKOPHUCTaHI IS TOTO, II00 KYIMUTH
o01aTHaHHS.

2. Axuii npoiatoThes KOpHopauisiMi Ha (POHAOBUX PUHKAX.

3. MuHys0ro poKy MU OTpUMYBAJIU 3apO0ITHY IUIaTy 3a Halry poOoTy.

4. 3apa3 Hama rpymna npamtoe Haj npoOaeMoro 1H(IALI.

5. Mu maeMo 3BepTaTu yBary Ha HOBI TEXHOJIOT1].
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Lexical Test 3

1. Translate the following words and expressions.

Scarcity, to make choice, economic incentives, profit motive, to ration,
the level of output, to deposit money in a savings account, yield, to risk,
to operate a business, to wear out, short-term loans, input, skilled workers,
to influence the market, at will, portability, to hoard, dumping, monetary policy.

2. Translate the following sentences into Ukrainian.

1.

Most of the money used by business comes from the sale of its products
and services.

As a firm sells its products or services, it receives money, which if uses
to meet its expenses

Nations trade with one another for the same reason that individuals and
business firms within a country trade: both sides expect to benefit from
the transaction.

The principal difference between a barter economy and a money
economy is that in a barter economy you must find someone who has
what you want and wants what you have.

In a market economy people can sell what they have to anyone and use
the money to buy what they want.

When the money supply is increased, consumer spending and business
spending tend to increase with it.

Natural resources, an adequate labor supply, and transportation facilities
have promoted the development of certain industries in particular regions
of the country.

Modem technology produces massive amounts of wastes.

Pesticides and chemical fertilizers used by fanners and home owners
pollute streams, rivers, and ground water when they are transported by
rain-water runoff.

10. We cannot produce everything we want in the quantities we desire.

3. Translate the following sentences into English.

1. CtynenTu 3apa3 00TOBOPIOIOTH MPpobieMy 0e3p0o0iTTs B HaIIii KpaiHi.
2. Y4opa BiH OTprMaB 3apo0iTHY TUIATY.

3. PoGoToaBIil HaiiMatoOTh MpalliBHUKIB HIOPOKY.

4. ToBap ipoA€THCS BiIMOBITHO /10 3aKOHIB TOMUTY Ta MPOIO3HIIii.

5. Mu MO>keMO 3MIHIOBATH I[1HU IIIOHEI1II.

45



Lexical Test 4

1. Translate the following words and expressions

To make choice, individual consumer, entrepreneur, household, quantity of
goods and services, supply, passbook loan, rate of return, to pay taxes, surplus,
to have voting rights, income statement, output, consumption, trademark,
collusion, durability, medium of exchange, to have serious drawbacks,
advantage.

2. Translate the following sentences into Ukrainian.

1.
2.
3.

Exports are goods and services sold to foreign buyers.

Imports are goods and services purchased from foreign countries.

The gains from exchange and specialization can only be fully realized if
self-interested individuals have future interests or expectations.

The study of what determines relative prices and what happens when
relative prices change is called microeconomics.

If individuals are free to exchange goods and resources, they can give up
those things they value relatively less in exchange for those things that
they value relatively more.

Consumption of a public good by a single individual does not affect the
ability of others to consume the same public good.

Resources are things used to produce goods, services and capital.

Some people come to a market because they want to buy (demanders),
others come because they want to sell (suppliers).

Excess supply occurs when, at a particular market price, the quantity that
suppliers want to provide to the market exceeds the quantity that
demanders want to purchase.

10. Excess demand occurs when, at a particular market price, the quantity

that suppliers want to provide to the market is less than the quantity that
demanders want to purchase.

3. Translate the following sentences into English.

1. PeanpHuii BaJIOBHM HAaIllOHAJIBLHUM MPOAYKT OyJie OOYMCICHUN EKOHO-
MICTaMH B HACTYITHOMY POIIi.

2. llinu Ha TOBapH MOXKYTh 3MIHIOBAaTHUChH LIOJHS.

3. Munynoro tuxHs Qipma BUpoOuiIa 6arato ToBapis.

4. CnoxuBaHHS — II€ BUTpaTa TOTOBHX TOBapiB 1 MOCIYT CIIOKUBauYaMHU.
5. 3apa3 MU IIyKaeMO TOBapH JUIsl MOJIOAI.
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Lexical Test 5

1. Translate the following words and expressions.

To make choice, individual consumer, profit motive, economic incentives,
the level of output, the law of demand, quantity of goods and services, rate
of return, consumer credit, stockholder, long-term loans, liabilities, mutual
funds, division of labor, to influence the market, at will, trademark, medium
of exchange, fluctuation measure of value.

2. Translate the following sentences into Ukrainian.

1.

A market is equilibrium when the quantity that suppliers are willing to
provide to the market at a specific market price is exactly equal to the
quantity that demanders desire to purchase in the market at the same
market price.

It should be clear that differences in individual characteristics are closely
associated with differences in income.

. A tax 1is proportional if persons with higher incomes pay the same

fraction of their income in taxes as do persons with lower incomes.
A tax is progressive if persons with higher incomes pay a higher fraction
of their income in taxes than do persons with lower incomes.

. Potential real output is the output that would be produced if all resources,

including labor, were fully employed.

Frictional unemployment results when individuals leaving one job (or
looking for a first job) do not immediately find a new job, even though
there are vacancies in the economy.

Another part of unemployment is true unemployment — there are no job
openings corresponding to those who are without work.

As real wages fall, firms will increase their employment of workers and
real output will increase.

The difference between the value of exports and imports is the foreign
trade balance.

10.If the value of imports exceeds the value of exports then trade balance is

deficit.

3. Translate the following sentences into English.

1. CnioxxuBayi Ta BUPOOHUKH OOMIHIOIOTHCS TOBapaMy Ha pUHKAX.

2. l1s xomnaHis 3apa3 3HUKYE I1HH.

3. JIOBrOCTpOKOB1 MO3MKH OYAyTh BHUKOPUCTaHI AJii TOTO, 1100 KYyNHUTU
oOnaHaHHS.

4. KBaniikoBaHi poOITHUKH BUKOHYIOTH CBOIO POOOTY O1IbIN €(pEKTUBHO.

5. CTyaeHTu MaroTh 3HaTH 3aKOH MOMUTY Ta MPOTO3HUIII].
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Lexical Test 6

1. Translate the following words and expressions.

The law of demand, elasticity, surplus, passbook loan, wealth, to face a
problem, sole proprietorship, stockholder, to have voting rights, mutual funds,
assets, skilled workers, standard of living, at will, trademark, interchangeable,
merger, to hoard, uniformity, medium of exchange.

2. Translate the following sentences into Ukrainian.

1.

S o

Two countries that trade can together produce more output than they
could in the absence of trade.

Depreciation of a currency refers to the fact that one currency has
become cheaper in terms of another currency.

Places where foreign currencies are bought and sold are foreign-
exchange markets.

Under a gold standard, each country determines that its currency is worth
so much gold.

To answer the questions of what, how and for whom to produce we look
at three major financial markets: the stock market, the bond market and
the futures market.

What people buy and sell on the stock exchanges are ownership shares of
corporations.

In the stock market people buy and sell shares of corporate ownership.

In the bond market people buy and sell promissory notes.

. A bond is a written promise to repay a loan.

0 In futures markets people buy and sell things that are to be «delivered» in

the future at prices agreed on today.

3. Translate the following sentences into English.

1. JTronu maroTh poOUTH BUOIp cepell TUX peuei, sIKi BOHH XOUYTh.

2. MloMy 3anpomnoHyBay rapHy LiHy 3a IPOAAXK 3eMIIi.

3. Y MuHynoMy poli BeIHMKI KOprHopaiii HailMaau BEJIMKY KUIbKICTh
€KOHOMICTIB Ha POOOTY.

4. Moro cectpa oTpuMye 3apoGiTHY IIATY B KiHIIi THIKHSL.

5. 1o BiH 3apa3 poOUTH?
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Lexical Test 7

1. Translate the following words and expressions.

To enable, fiscal policy, money supply, to have serious drawbacks,
advantage, to benefit, restriction, intermediary, property rights, exchange ratio,
current prices, to deflate, to save income, inventories, to offset depreciation,
interest rate, predictability, slope, foreign-exchange market, gold reserve.

2. Translate the following sentences into Ukrainian.

1.

The only way to limit or reduce the national debt is to eliminate the
budget deficits that create debit.

All of the bonds held by foreign households and institutions is referred to
as external debt.

. Monetary policy will be less effective if either the demand for money is

inelastic with respect to the interest rate or if desired investment is
inelastic with respect to the interest rate.

Individuals can only do two things with their income: they can consume
it or save it.

We also save because of uncertainty about our future income and about
how long we will live.

Increased government expenditure increases aggregate demand.
Decreased government expenditure decreases aggregate demand.
Aggregate demand and aggregate supply are useful concepts only if they
help us understand why an economy may not always fully employ its
productive resources, have price stability, or grow at an acceptable rate.
When a person's income fluctuates from month to month, he or she can
smooth consumption by saving and dissaving.

10. This potential real output is determined by the natural resources available

to an economy, the technologies that it has developed, the amount of
capital that it has accumulated, and the amount of labor it has available.

3. Translate the following sentences into English.

1. 3apa3 BoHU BUPOOJISAIOTH Kpallli TOBAPH 3 TUMHU K PECypcaMu.
2. 11 ToBapu Oynu eKCIOPTOBaHI B MUHYJIOMY POLIL.

3. YV uboMmy potii BiH 3apo0Jisie OUIbIIe, HIXK Y MUHYJIOMY.

4. Mu Ma€EMO BUBYHUTH 3aKOH MOMUTY 1 MPOMO3ULIii B I[bOMY POIIi.
5. Ydopa BoHa oTpuMaja 3apo0iTHY IUIaTy.
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Lexical Test 8

1. Translate the following words and expressions.

Circumstance, tax receipts, administrative red tape, to levy, to allocate
resources, free enterprise, environment, prohibition, opportunity costs, economic
growth, derived demand, inflation rate, depreciation, gross investment, to
undermine, to evolve, implicit, to lower, current prices, unit of account.

2. Translate the following sentences into Ukrainian.

1.

(98]

Firms will demand more labor only if the demand for goods and services
such labor produces is sufficiently strong.

Relative price is the price of one good in comparison with the price of
other goods.

The price level is measured using a price index.

Goods are called public goods, not because they are provided by the
government, but because they differ from the usual goods and services
that we privately enjoy.

. Public goods pose a serious problem for a market economy: markets are

organized on the basis of individual decision-making, but in a sense,
public goods require collective decisions.

Information is very important in making decisions in a market economy.
Searching for information is a very important way for individuals to gain
the information necessary for individual economic choice.

A good is something tangible that is produced, and consumed, often
having been purchased in a market.

A service is something intangible that is produced and consumed, also
frequently having been purchased in a market.

10. Demand is all combinations of relative price and the quantity of a

particular commodity that individuals or firms (demanders) would be
willing to purchase in a market.

3. Translate the following sentences into English.

1. ¥V Hamoi komnaHii MatoTh OyTH IPUOYTKU B IIbOMY POIIL.

2. MeHi cka3any NpuHTH Ha 3yCTpid BUOpa.

3. oOpoOyT HaceaeHHs 3pOCTa€E 3 KOKHUM POKOM.

4. CtygeHntu 3apa3 00roBOpIOIOTH MpodsieMu 1HGIALIT B HaIIIi KpaiHi.
5. Buopa BiH BUBYMB OCHOBHI €KOHOMIYHI MOHSTTSI.
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IMucemoBmii Tect Ne 1
HA NMepeBIPKY JIEKCHKO-TPAMATHYHOI0 MaTepiaay

a) JIGKCUKO-TpaMaTUYHUM TECT 3 BUOOPOM OJTHI€T MPaBUIIBLHOT BIIMOBII:

1 | Harry’s birthday is ........ February 18",
A at B on Cin
2 |llike....... my brother’s motorbike.
A riding B ride C rides
3 |They........ an expensive car last year.
A buy B bought C have bought
4 |T........ to Paris twice since 1980.
A went B go C have been
5 ... I help you carry those heavy bags?
A Shall B Do C Will
6 | Tom has two brothers. ... of them are older than him.
A None B All C Both
7 | How would you feel if you ... your car?
A crash B will crash  C crashed
8 | You ... feed the animals at the zoo.
A needn’t B mustn’t C can’t
9 | Don’t you remember ... me at the Browns’ last summer? We used ...
at their place every Friday.
A to see, to meet B seeing, meeting
C seeing, to meet
10 | The problem of pollution ...... worse these days.
A will get B got C is getting
11 |Mum....... the breakfast by the time we woke up.
A has been making B made C had made
12 | She claims ...... Brad Pitt last year.
A to meet B to have met C have met

0) JTIEKCUKO-TpaMaTUYHHUM TECT Ha MepeKyal 3 YKpaiHChKOI MOBU Ha aHTJIICHKY:

1. PeHTOI0 Ha3UBaIOTh LIIHY 32 KOPUCTYBAHHS 3€MJICIO.
2. Y 1eil yac BOHM HaMarajuch YHUKHYTH TPOILIOBUX BUTpAT.
3. I'pomi Oynu mokiaaeHi Ha GaHKIBCHKHUM PaxXyHOK.
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IMucsmoBuMii Tect Ne 2

HA NMepeBIPKY JEeKCHUKO-TPAMATHYHOI 0 MaTepiainy

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1 | Sheis eating ........ orange.
A a B an C -
2 | Wehaven’tgot...... eggs to make an omelette.
A any B some C none
3 | Could youlend me ....... money, please?
A many B some C much
4 |Mum........ her exercises at the moment.
A is doing B does Cdid
5 | Ann has never ... Rome.
A gone to B been in C been to
6 | I answered the door, but there was ... there.
A someone B anyone C no one
7 | Thatis ... pen.
A Tom’s B Tom C Toms’
8 | You... tidy your room. It’s a mess!
A can B must C needn’t

9 | It was far ... than he expected, so he made up his mind to spend twice
as ... money as he wanted.

A more cheaper, more B more cheap, a lot

C cheaper, much
10 | This time yesterday we ....... in the sea.

A swam B are swimming  C were swimming
1 |....... the housework, Maggie sat down to rest.

A Doing B Having done C Done
12 | The tree ........ down last week.

A was cut B cut C cuts

0) JTIEKCUKO-TpaMaTUYHHUM TECT Ha MepeKyaa 3 yKpaiHChKOI MOBU Ha aHTJIICHKY:

1. TepMiH «KamiTam 4acTO BKUBAETHCSA O13HECMEHAMH.

2. KinpKicTh peueld, SiKi MU CIIPOMOKHI OyJIM KYTIUTH, 3aj1eKalia Bil po3Mipy
HAIOTO MPUOYTKY.

3. Ileii Gank HamaBaB mo3uky Hamrii kommadii 3 2005 mo 2010 poky.
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IMucsmoBuMii Tect Ne 3

HA NMepeBIPKY JEeKCHUKO-TPAMATHYHOI 0 MaTepiainy

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1 | This is my sister’s dog. Itis .........
Aher B hers C she

2 | There’s ........ in the garden.
A somebody B anybody C no

3 | Sarah is the prettiest girl ... our school.

A then B in C of
4 | Paul’s caris ... than Tom’s.
A fast B fastest C faster
5 | I don’t think he’s French. He ... be Spanish.
A can’t B should C must
6 | That box is ... heavy for him to carry.
A enough B too Cto
7 | Sam lost his keys. He couldn’t find them ....
A somewhere B nowhere C anywhere
8 | Tim has two cars. ... of them 1s new.
A Neither B None C Both
9 | Lether ... it herself. She is considered ... a careful researcher and
can’t stand ....

A do, to be, being helped B to do, to be, to help
C doing, being, helping

10 |Doris ....... in that office since April.
A has been working B works C is working

11 | Petergot...... presents that he couldn’t fit them into the cupboard.
A such a B such a lot of C so much

12 | She went to bed without .....goodnight.
A say B to say C saying

0) JTIEKCUKO-TpaMaTUYHHUM TECT Ha MepeKyal 3 yKpaiHChKOI MOBU Ha aHTJIICHKY:

1. 5 maB Hamip OOMIHSITH BaJIOTy B MyHKTI OOMIHY.

2. Momy 6yIo Helerko po3IoyaTh BIacHy CIPaBY.

3. EKOHOMIYHI CHCTEeMH MOXYyTb OyTH KiIacu(IKOBaHI K TpaAMIIiiiHI,
3arajibHi Ta PUHKOBI.
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IMucsmoBuMii Tect Ne 4

HA NMepeBIPKY JEeKCHUKO-TPAMATHYHOI 0 MaTepiainy

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1 | Tomusually ........ golf on Saturdays.
A has played Bisplaying  C plays
2 |T......... that film yet.

A didn’tsee B don’t see C haven’t seen
3 | This dress is the ... in the shop.

A more expensive B most expensive C expensive
4 | Bob ... the car at the moment.

A washes B is washing C wash
5 | You. ... to take more exercises if you want to be fit.

A ought B should C had better
6 | That’s the house ... I grew up.

A which B where C who

7 | Andrew ... for this company for ten years so far.

A had been working B had worked

C has been working

8 | Do you want ... from the supermarket?

A anything B something  C nothing

9 | Remember ... them tomorrow. They are said ... from their voyage. I’d
rather ... them in a couple of days.

A phoning, to be returning, meet

B to phone, to have returned, meet

C to phone, to have been returning, to meet

10 | He was hot because he ...... in the sun.
A sat B had been sitting C is sitting

11 | She was lying on her bed...... about the party.
A thinking B to think C think

12 | We....... get up early this morning, so we slept until ten o’clock.
A needn’t B mustn’t C didn’t need to

0) JTEKCUKO-TpaMaTUYHHUM TECT Ha MepeKyaa 3 yKpaiHChKOI MOBU Ha aHTJIICHKY:

1. Jlromeit, siKi KOPUCTYIOTHCS TOBapamMH Ta TOCIyTaMH ISl 3aI0BOJICHHS
CBOIX MOTPEO, HA3UBAIOTH CIIOKUBAYaAMHU.

2. 3MiHM MOMUTY Ta MPOMO3HUIIT BILIMHYJIU HA PUHKOBI I[IHHU.

3. Konu BoHa 3aTenedoHyBaga, MU pO3MOBIISLIIU PO (GOHIM MiANPUEMCTBA.
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IIucomoBuii Tect Ne 5

HA NMepeBIPKY JEeKCHUKO-TPAMATHYHOI 0 MaTepiainy

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1 | They.......... to the zoo yesterday.
A have gone B go C went
2 | Iwill meetyou....... 10 o’clock.
A at B on Cin
3 | The sun ... in the west.
Ais setting B set C sets
4 | It’s ... colder today than yesterday.
A much B most C very
5 | He asked if he ... borrow the book.
A could B had C will
6 | Father ... us to come inside.
A said B told to C asked
7 | Kelly ... be at work. She isn’t at home.
A mustn’t B can C must
8 | Bob had missed the flight by the time he ... at the airport.
A had arrived B arrived C was arriving
9 | If Beth had time, she.....the tennis club.
A would join B is joining C will join
10 | Who....... in my desk? Things have been moved!
A look B has been looking C looks
11 |....... some spare time, Tom went for a walk.
A Having B Have C To have
12 |He......... to work when the accident happened.
A 1s driving B was driving C drove

0) JeKCUKO-IpaMaTUYHUIA TECT HA NEPEKIIa] 3 YKpaiHChKOT MOBU Ha aHTJIHACHKY:

1. PiBeHB MOJATKY 3MIHIOBABCS 3 JIUITHS 1O BEPECEHH MUHYJIOTO POKY.

2. 3arajpHa BapTICTh YCIX TOBapiB 1 MOCIYr 3a OJUH PIK HA3UBAETHCS

BaJIOBUM HaHiOHaJ'IBHI/IM IIPOAYKTOM.

3. LiHu ynpapisitoTh pPUHKOBOI €KOHOMIKOIO.
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IMucsmoBuii Tect Ne 6

HA NMepeBIPKY JEeKCHUKO-TPAMATHYHOI 0 MaTepiainy

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1 |Sheisthe.......... girl in our school.
A more beautiful B most beautiful
C as beautiful as
2 | She methim........... Tuesday.
A at B on Cin
3 | Peter has lived here ... 1998.
A for B since C ago
4 | Mother ... dinner at the moment.
A cooks B cook C is cooking

5 |[IwishlI ... so much homework to do.
A didn’thave B hadn’thad C hadn’t
6 | It’s not warm ... to go to the beach.

A too B enough C very

7 | Are there ... biscuits in the cupboard?
A any B some Cno

8 | Tina ... to take the dog for a walk every morning.
A should B must C has

9 | Look at the sunshine! It ....... a beautiful day.
A is going to be B is being C be

10 |I...... James tonight. We have arranged it.
A see B am seeing C saw

11 | The boys avoided ....... through the dark forest.
A walking B to walk C walk

12 | By the time we get home, we........ for six hours.
A will travel B will have been travelling C are travelling

0) JEeKCUKO-IrpaMaTUYHUIA TECT HA NIEPEKIIa] 3 YKpaiHChKOT MOBU Ha aHTJIHACHKY:

3apo6iTHa TUTaTa — 1€ TPOIIOBA BUHATOPO/Ia 32 BUKOPHUCTAHY IPAITIo.
. BuTtpatu uporo mianmpuemMcTBa 3pOCTajiM, TOAl SIK €KOHOMIKa BCTymajia B

HOBY (ha3y.
3. Mu manu Hamip BUIUIATUTH BCl OOPTH 10 OYATKy (DIHAHCOBOTO POKY.

N —
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IIucnmoBuii Tect Ne 7

HA NMepeBIPKY JEeKCHUKO-TPAMATHYHOI 0 MaTepiainy

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1 You............. be late for school.
A must B needn’t C mustn’t
2 It usually snows ....... winter.
A at B on Cin
3 Lucy is as ... as Sally.
A clever B cleverer C cleverest
4 Harry went to France two years ....
A since B ago C for
5 The restaurant ... is on the high street is very good.
A where B who C which
6 Can you ... me where the nearest bank is, please?
A say B tell C say to
7 If I were you, I ... to bed early.
A will go Bwouldgo Cwon’tgo
8 That’s the woman ... son is a doctor.
A who B which C whose
9 Steve ....... work last Sunday. His boss asked him to.
A has to B must C had to
10 | The parents make the child ....... to bed early during the week.
A go B to go C going
11 | This time next month I ...... in a new house.
A will live B am living C will be living
12 | The match ....... at two o’clock tomorrow afternoon.
A start B has started C starts

0) JEeKCUKO-IrpaMaTUYHUIA TECT HA NIEPEKIIa] 3 YKpaiHChKOT MOBU Ha aHTJIHACHKY:

3a yac iH}uALii npoBoaMIachk (icKalbHa MOTITHKA.

. IlpuBaTHa BIACHICTH [Ja€ JIOASM CTUMYJ BHKOPUCTOBYBAaTH CBOIO
BJIACHICTH ISl OTPUMAaHHS IPUOYTKY.

3. 3emuis Ta iHIII OPUPOJHI pecypcu Oynu 3aKymuieHi O13HECMeHaMU B HaJlii

Ha TPUOYTOK.

N —
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IIucnomoBuii Tect Ne 8

HA NMepeBIPKY JEeKCHUKO-TPAMATHYHOI 0 MaTepiainy

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1 |Peteris........ boy in the team.
A biggest B the biggest C bigger
2 | Mr. Morgan is my teacher. Do you know ......... ?

A his B him C he

3 | My hair is ... than yours.

A long B longest C longer
4 | Look! She’s ... drop the vase.
A going to B will C shall
5 | I was hungry so I made ... a sandwich.
A myself B my C me
6 | You ... do the washing-up. I’ve already done it.
A needn’t B must C mustn’t

7 | They ... married for seven years when their first son ....

A have been, was born B had been, was born

C were, had been born

8 | Do you see a couple in the corner? Their dessert ... now. As soon as
they ... it, we ... their table.

A 1s served, finish, will take

B is serving, will finish, take

C is being served, finish, will take

9 |I...... to you as soon as I get home.
A wrote B have written C will write
10 | Karen suggested ....... a new car.
A buy B buying C to buy
11 | They ....... for half an hour when the doctor came.
A have waited B had been waiting C wait
12 |IwishI...... more spare time in the evenings.

A have B had C was having

0) JTEKCUKO-TpaMaTUYHHUM TECT Ha MepeKyal 3 yKpaiHChKOI MOBU Ha aHTJIICHKY:

1. Bona Bxe Mae rapHuil AOCBIJ B LIl ramxy3i BUPOOHMIITBA 1, MOXKIJIUBO,
PO3MOYHE BIIACHY CIIPaBY.

2. Maifxe BCl 4iI€HHU HaIIO1 pOJMHUA OyJIHM 3aCTPaxOBaHi.

3. Horo ToBap NpoiaeThes 3apa3 B yMOBaX MOHOMOTICTUYHOI KOHKYPEHIIii.
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IMucsmoBuMii Tect Ne 9

HA NMepeBIPKY JEeKCHUKO-TPAMATHYHOI 0 MaTepiainy

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1 |Idon’tknow ........ at this party.
A anybody B somebody C nobody
2 |Arabbitis........ than a lion.
A smallest B smaller C the smallest
3 | Susan’s ... person I’ve ever met.
A the nicer B nicest C the nicest
4 | Have you done your homework ...?
A yet B since C for
5 | If you hadn’t overslept, you ... late for work.
A won’t be B wouldn’t have been

C wouldn’t be
6 | Are you doing ... this weekend?

A nothing B something  C anything

7 | I think we ... it on the shelf for Daddy to see when he ... home from
work.
A will put, will come B will put, comes

C put, comes
8 | Look at him! He ... the same clothes for years.
A has been wearing B wears  C has worn

9 | Our environment ........ more and more polluted every year.
A become B becomes C is becoming
10 |It’snouse ...... the door. It’s locked.
A push B to push C pushing
11 | ....... it was raining, he took his umbrella with him.
A Because of B Due to C Since
12 | I saw Mr. Brown ...... the building at two o’clock.
A leave B to leave C having left

0) JTIEKCUKO-TpaMaTUYHHUM TECT Ha MepeKyal 3 yKpaiHChKOI MOBU Ha aHTJIICHKY:

1. Bouu 3HWXKYIOTH TBEpAl I[IHU 3a OJUHUII0 TOBApY, OCKUIBKH BHUITYCK
IPOAYKIIIT 3pOCTAE.

2. Konu yps poOMB MO3UKHU Ta BUITYCKaB HOBI TPOILI, MTOJATKU
301JIBIITYBAIUCH.

3. Biu 3nHaiige Te, 1mo mykae s €)eKTHBHOTO BUKOPUCTaHHS 00JIaTHAHHS.
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ITucsmoBuii Tect Ne 10

HA NepeBipKy JEeKCHKO-TPaMaTHYHOI0 MaTepiany

a) JIGKCUKO-TpaMaTUYHUM T€CT 3 BUOOPOM OJTHI€T MPaBUIILHOT BIIMOBII:

1

Frankis ........ student in our class.
A the worse B worse than  C the worst

2

........... he like cats?
A Does B Do C Don’t

These are the ... books.
A children B children’s C childrens’

Jim ... in Scotland for five years.
A lives B is living C has lived

She works in a bank, ...?
A does she B isn’t she C doesn’t she

He fixed his bicycle all by ....
A him B his C himself

When I ... to Riga, it was cold, a strong northern wind ... and it ... for
a fortnight.

A came, blew, was raining

B had come, had been blowing, had rained

C came, was blowing, had been raining

He is afraid ... to Mrs. Priestly. In his place I would rather ... her. He
may depend on her ...the problem properly.

A of speaking, trusting, understanding

B to speak, trust, understanding

C of speaking, to trust, understanding

That exercise is ....... difficult for the children.
A too B enough C not enough

10

Tom was painting the door while Judy ...... the windows.
A was cleaning B cleaned C is cleaning

11

....... ill, Jeff didn’t go to work yesterday.
A To feel B Feeling C Feel

12

The boss has decided ...... a bigger office.
A torent B renting C rent

0) JeKCUKO-TrpaMaTUYHUIA TECT HA NIEPEKIIaj] 3 YKpaiHChKOT MOBU Ha aHTJIHACHKY:

1. MuHys0r0 poKy MH CHOCTEpIrajiy MOKpAIICHHS €KOHOMIYHOI CUTYyallii B
IIOMY PET10HI.

2. Axuii OyayTh TpojAaHi KOPHOpalisiMA JJisi BUKOPUCTAHHSI TPOIIEH Ha
doHoBUX OipKax.

3. lnst Toro, mo0® BHUBYATA TOMHUT CIOXXHBAYIB, MH 3IIMCHWIA HU3KY
CTIOCTEPEIKEHb.
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Table 1. Suffixes of nouns

APPENDIXES

Suffixes Examples
-age postage
-ance importance
-ence independence
-er programmer
-or operator
-ism capitalism
-dom kingdom
-ness darkness
-ship friendship
-ation dictation
-tion execution
-ion action
-sion confession
-ian politician
-ist typist
-yst analyst
-ness kindness
-ment measurement
-ty ability
-ure pleasure
-ing building
-ary dictionary
-ery bakery
-cy accuracy
-ee employee
-hood brotherhood
Table 2. Suffixes of verbs
Suffixes Examples
-ize computerize
-ate dictate
-ty simplify
-en shorten
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Table 3. Suffixes of adjectives

Suffixes Examples

-able comparable

-ible divisible

-ant important

-al verbal

-1al partial

-ical electrical

-ar circular

-ary reactionary

-ic automatic

-ive active

-lan Russian

-an Mexican

-ous famous

-ious religious

-ful helpful

-y rainy

-less careless

-ish greenish

-ing coding

-ate affectionate
Table 4. Suffixes of adverbs

Suffixes Examples

-ly kindly

-wards downwards
Table 5. Prefixes of size

Prefixes Examples

macro- macroeconomics

micro- microeconomics

maxi- maxicomputer

mini- minicomputer

mega- megabyte
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Table 6. Prefixes of location

Prefixes Examples

ex- external

inter- internal

out- outdoors

up- upstairs

trans- transatlantic
Table 7. Prefixes of number

Prefixes Examples

bi- bilingual

tri- triangle

quad- quadruple

penta- pentagon

hex- hexadecimal

septem- septuagenarian

oct- octal

dec- decimal

multi- multinational

mono- monochromatic
Table 8. Negative (opposite) prefixes

Prefixes Examples

un- uncontrolled

in- incomplete

im- impossible

il- illegal

ir- irregular

non- non-programmable

mis- misunderstand

dis- dislike

anti- antisocial

de- demagnetize

under- underestimate

over- overestimate

ab- abnormal

contra- contradict
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Table 9. Prefixes of time

Prefixes Examples
pre- prehistoric
post- postwar
Table 10. Other prefixes
Prefixes Examples
auto- automatic
re- rewrite
over- overheat
co- coordinate
ex- ex-wife
neo- neoclassical
pan- pan-Asian
extra- extrasensory
for- forward
inter- interrelated
prime- prime-minister
retro- retroactive
ultra- ultraliberal
semi- semisphere
super- superstar
sub- subgroup
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